KEARNEY MEN'S

الا

Ŀ

BUWLING ASSOCIATION

FINAL SEASON AVERAGE BOOK

1791-82

MERWIN G ROEDER 3715 LINDEN DRIVE MEANNEY, MERRASKALSSAT FHOME 309-237-5482 FINAL AVERAGE SHEETS WERE NDT RECEIVED FROM THE CITADEL (CIT) AND SERVICE (SER) LEAGUES

FINAL AVERAGES FOR THESE LEAGUES ARE TAKEN FROM THE LEAGUE STANDING SHEET FOR THE WEEK OF APRIL 11TH AS POSTED AT HILLTOP LANES

THE FOLLOWING MEN BOWLED IN THE CITADEL LEAGUE BUT WERE NOT LISTED ON THE LEAGUE STANDING SHEET

> BAKER, MICHAEL BECKER, NEAL BIELENBERG, RONALD BIRKMAN, RICH BROWN, REED DURANRD, CALVIN GARTNER, RICK

LITTLE, GARY MORIARTY, DAVID SHIEFFER, MICHAEL SMITH, MARION TROTTA, JAMES OR VOGT, MAEK WASHTAK, ROYMOND

NO REPORT WAS RECEIVED FROM THE

SERVICE LEAGUE FOR:

FESTER, GALE

			sa ¹			· . · ·				· · · · · · · · · · · · · · · · · · ·
•		· .								•
•			•	TAB	LE OF	CONTENT	5			
INE	EX		:				-		PA	BE
L.	EAGUE S	SECRET	ARIES	9 % # 2 /] #	ند م ه م . ,	ε ο μμυροι	5926656 992665	• * * * * * * * * *		1
<u>A</u>		ବାର ଜ ମାନ କ	្ គេតតេចតែន -		607040	0 & N H 4 G & G	4 2 4 3 8 1 6 6	₩, 65 728 45 48 ed at at at		4
· B		a a lo n, c a		19 49 45 45 46 49 -		ு க அடி வ க க		80000888		5
C	1. 1. 0. 10. 11. 10. 17. 1		о м п с ю п	9 A 4 4 6 6	N T G M G T		n H Z # 19 # .3 W	* # # E G M # #		3 .
ם				3 G 4 4 6 8	0 8 % E Я Э		р С. С. 41 м. J. 25 м. 1	, d = 11 a g g g g	· · · · · · · · · ·	
E		: 	er 43 € ni ør∹e:	a 19 GP 18 EP 40					13	- -
F		ت ، ا	u o e a a o u						13	*
G	*****		1 t to to to a s				0 60 42 m G .; G 67 4	* 4 * 2 * * *		
н									<u>.</u> .	•
T		м н л «с д "	9 4 6 4 0 0 1	5 A H H H H H H H) o e e o ç /	9 × 9 K B 8 8 9 V		- # k k a a a a .	aces Li	-
-	04888888	. a e a <u>a</u> e a	6 3 6 6 6 6 6 .	на <u>е к</u> ит	1 P G W D Q A	й на <i>с</i> ова и	، ښ ج و یه ار ۹۰ ۵ ۶		18	3
ان		л a r ் σ u a	3 45 47 65 4 <u>6</u> 71 4		; .4 .4 .8 .8 <u>.9</u> .7) n a x x a w ø) FI 47 -5 -6 - 67 - 68 - 67 - 68 - 67 - 68 - 68 -		18	}
}:]	8 k u A K U	89 89 66 79 88 88	19 FQ d: FP 42 14 10		5 +2 +0 67 68 m) g	382399484				,
L	******	a a e a e o	1 0 4 3 4 9 5	4 # 4 9 8 3					21	
bi bi				с II и о о р	តំបដត់ ឆ្នា ,	਼ਰਾਹ ਹੁਣ ਜ ਜ ਵ ਛ	4 4 v e c u a a	् तित्वं के के बाक की		
<u>_</u> 0		ник ^а ваа		645ec <i>1</i>)		* * * * * * * *			27	
P	* * C + C *	22 03 9] tγ σε • <u>β</u>	: U >> w 40 a 2*	******	T 13 8 14 9 5		a e	• • • • • • • •	28	
Ē	4 - a a 1: 5			a a a a s s a	4) C. 4 In 18 11		3 M M M M M M M M		29	
5		2 7) N (5 10 4)	4 0 M 4 D 11	* * * * * *	2011年1月1日日	دې و به م او به	91 J L T T L Q A			
Ţ		, ,			No in an ago ta ago	۱۰ نبر دع کو به نوه مو	13 a at 42 m at 45 a	31 ⁹⁷ d 31 d) 11 d)	37	
ü	به هو مه در که	* * * * * * * *	ده سان	4 R F # ¥ #	e - u a a a	्रेष्ठ की ही के जा की	6.00000000000	* * * * * * * *	37	
Ŷ		0 .		* * * * * * * *	• • • • • •	11 a 21 a 21 br			38	
! ≠}		• 3 2 2 2 4 4 4	19 - w 15 F	***	n II 4 n e S	* * 4 4 4 4 4 4	а ¹ ат () ак.ч. 5	4 8 4 to 5 al a		
							ल ए.स.च च च च च			•
•							<u>.</u>		v - a	

LEAGUE SECRETARIES

AFTER HOURS (AF) ## CONNIE VARGAS 2713 4TH AVE KEARNEY, NE 68847 234-3965

ALLEY CATS (AC) JUDY MARKUS 506 E 28TH KEARNEY, NE68847 236:5401

APFLE BUSTERS (AB) JOHNNY NIKKILA 1501 BTH AVE KEARNEY, NE 60847 236-5033

BIG EIGHT (BE) LESLIE STEVENS 1507 AVE B KEARNEY, NE 68847 234-4606

CIDER ROLLERS (CR) MERWIN G ROEDER 37L5 LINDEN DR KEARNEY, NE 58847 237-5485

CLASSIC (CL) LESLIE STEVENS 1507 AVE B KEARNEY, NE 68847 234-4606 COMMERCIAL (CD) MARK PALU 815 W 12TH KEARNEY, NE 68847 234-5113

CRAB APPLE (CA) VIETTA MURRISH 2919 AVE E KEARNEY, NE69847 237-3219

CROSSTOWN (CT) MARY BOWMAN #231 EASTLAWN KEARNEY, NE 58847 234-4425

DOUBLE SIX'S (DS) SAMMY L BENNETT 515 E 25TH KEARNEY, NE 60847 237-3041

EAGLES (E) JIM ERFELDING 2203 AVE C KEARNEY, NE 68847 236-5775

FORT (F) RONALD EILERS 1310 9TH AVE KEARNEY, NE 68947 234-2207

** LEAGUE ABREVIATION FOR USE IN IDENTIFICATION

FUNTIME MIXER (FTM) MARY HEATER #225 EASTLAWN KEARNEY, NE 68847 234-4647

FRIDAY NITE FUN (FNF) FAMELA LOOMIS 1122 E 28TH KEARNEY, NE 68847 234-1585

GUYS AND DOLLS (GD) CAROL M DETTER 2829 AVE E KEARNEY, NE 68847 237-5098

HARDCORE APPLES (HCA) SCOTT FEDDERSON CASE HALL #30 MEARNEY, NE 68847 236-3015

HAS BEENS (HAB) IONE BLUE RR#2, BOX 127 SHELTON, NE 68870 : 647-6718

HILLBILLY (HIB) JOHN SCHROEDER 1106 13TH AVE KEARNEY, NE 68847 234-5860

NICE TRY (NT) JEAN RODEHORST RR#3 BOX 130 KEARNEY, NE 68847 234-1189 HILLTOPPER SUNDAY NITE HIXED (HTM) JEANNE ACKERMAN 405 W 29TH KEARNEY, NE 68847 237-7341

INDUSTRIAL (IN) FRED MOES RR#3 KEARNEY, NE 60847 237-2876

LITTLE BIG (LB) CAROL KAUTZ #82 VALLEY VIEW KEARNEY, NE 58847 234-6232

MERCHANTS (ME) CORT SCHANOU 1 FARKLANE NEARNEY, ME 68847 234-1252

MIDNIGHT ROWDIES (MD) SHELIA SILVERS RR#2 KEARNEY, NE 68847 234-5385

MIDWAY (MI) ROLAN MURRISH 2919 AVE E KEARMEY, NE 68847 237-3219

OUT OF TOWNERS (OT) MARILYN JENSEN BOX 86 SHELTON, NE 68870 647-6848 2

 \mathbf{x}

PRIMETIMERS (PT) DONNA SNYDER #36 VALLEY VIEW KEARNEY, NE 68847 236-7176

ROTTEN APPLE (RA) WENDELL SPRINGER 603 W-25TH KEARNEY, NE 68847 237-3848

SERVICE (SER) DOUGLAS HOFFMAN #25 EASTLAWN KEARNEY, NE 68847 236-6815

SOD BUSTERS (SB) LLOYD WILKE 210 FRONTVIEW DR KEARNEY, NE 68847 234-1060

SOFTCORE APPLES (SCA) MARK FAHRENBRUCH RR#3 KEARNEY, NE 68847 236-6934

SOUR AFPLE (SA) IVAN STONES 3200 GRAND AVE KEARNEY, NE 68847 234-4231

SUNDAY NITE MIXED (SNM) DEMARIS LABS P.D. BOX 181 AMHERST, NE 58812-826-2721 VOWN AND COUNTRY (TC) WINNIE ENQUIST RR#1 BOX 39 ELM CREEK, NE 6:836 856-4732

TUESDAY MORNING CLASSIC (TMC) KENNETH SCHLATTMANN #52 EASTLAWN KEARNEY, NE 68347 234-9428

TUESDAY NIGHT LATE (TL) OLLEN GRAVES 3604 AVE A KEARNEY, NE 58847 234-3106

TUESDAY NIGHT ROCKWELL (ROC) FHYLLIS A SAHDE 1907 9TH AVE KEARNEY, NE 56847 234-4151

VARSITY (V) HAROLD GARY 917 E 25TH KEARNEY, NE 68847 237-3160

NEDHESDAY NITE EARLY DOWLERS (E5) JACQUELINE M AULT 3207 AVE F KEARNEY, NE 68847 237-2476

WEDNESDAY WITE MIXED (WN) KAPEN R GARRELTS 904 E 35TH MEARNEY, NE 68947 237-7216

· · · · ·				
NAME I. ************************************		TAL FINS TOTA		AVERAGE
			90	148
ABEL PATRICK ABEL RANDALL	SB	13339	7V 51	
		7447		146
ABEL RICK		. 893	6	149
ABELS HARLAND		12919	87	148
• •	FNF	1109	9	123
	HIB	8852	63	140
ACKERMAN CRAIG	ME	12060	87	138
ACKERMAN CRAIS	HTM	1331	11	121
ACKERMAN THOMAS	ME.	873	6	149
ACKERMAN THOMAS	HTM	11900	84	141
ACKLEY CHARLES	ME	12837 .	78	154
ACKLEY RONALD	ME	4192	33	127
ACKLEY TERRY	ME	11725	84	139
ACQUAZZINO TONY	Ser	11451	87	233
ALAMSON DONALD	TC	421	3	141
ADAMSON DONALD	SB	12796	ዎው -	144
AKEN JIM	BE	4458	34	129
ALLEN TERRANCE	FNF	8687	57	:52
ALLEN TERRANCE	CIT	ao 10	54	148
ALLEN TERRENCE	SER	4255	:27	158
ALMAGUAR ALFRED	CL	16792	74	174
ALVES JON	TL.	913	5	152
AMOS LYNN	. V	6837	57	120
ANDARSON DONALD	TC	424	3	141
	HAB	12197	79	152
ONDERSEN ROBERT	ទម	12177	S7	139
ANDERSEN WAYNE	RA	11717	87	134
ANDERSEN MAYNE	CA	1361	9	151
ANDERSEN WAYNE	AB	4494	33	136
ANCERSON EUGENE	ME	10446	75	139
ANDERSON JAY	ECA	2399	19	133
	HIB	462	*~~ *	154
ANDERSON JAY	RA	412	3	137
AMDERSON JEFF	RA	14365	90	150
ANDERSON JEFF		14151	97	152
AMDERSON KENNETH	CL.	5340	35	148
ANDERSON KENNETH	BE	2108	15	140
ANDERSON LARRY	SB	2458	18	139
ANDERSON LARRY	PT	3702	27	137
ANDERSON LOUIS	HIB	13336	78	170
ANDERSON LOUIS	AB		24	162
		13451		
ANDERSON MURRAY	CL MI	448	3	147
ANDERSON R	MI	954 150	<u>ن</u>	159
ANDERSON RICHARD	HTM	488	3	142
ANDEREON RICHARD	AÐ	10788	<u>ప</u> ర 	1.673
ABBERSON RICHARD	HIB	438		140
ANDERSOM RICHARD	CA	14638	53	127
ANDERSON RICHARD	<u>CR</u>	8759	54	152
ANDERSON RICH	CF	12516	2:3	1.50
ANDERSON ROBERT A	CR	5287	36	146

÷.

. •

. . .

·*************************************	•	-	P	
ANDERSON ROBERT L	AB	11541	81	142
ANDERSON ROBERT L	CA	14060	93	151
ANDREESEN JAMES	IN	13636	9 0	151
ANDREESEN JAMES	Hab	12529	87	144
ANDREWS DAVID	hab	12729	93	136
ANSBACH REGGIE	SNM	2476	15	165
ANTILLAN GILBERT	AB	5278	39	135
ARCHER BRUCE	ROC	3189	24	132
ARCHER BRYAN	HIB	12231	87	140
ARCHER BRYAN	ROC	2207	15	147
ARCHER KEITH	ROC	13552	84	161
ARENT JERRY	EB	9349	60	155
ARENT JERRY	F	2016	12	169
ARMES SCOTT	CR	11495	[*] 89	166
APNULD DAVE	AF	6246	29	139
ARP DALE	58	14758	93	159
ARP DUANE	SB	7483	48	195
ARREDONDO JUAN	AB	12975	90	200 204
ASAY SCOTT	HIB			175
ASAY SCOTT		1575	9	
	SA	1528		159
ASAY SCOTT	RE	10791	63	171
ASPEN DAN	AB	10007	69	145
ASPEN STAN	AB	8229	60	137
ATKINSON FATRICK	BE	12297	81	151
ATKINSON PATRICK	AC	12967	84	154
AUFRECHT DAVE	AF	6912	· 60	115
AULT DUANE	EB	16341	93	173
AULT DUANE	F	15962	93	171
AUSDEMORE WILLIAM	SNM	14356	90	159
AYERS CHUCK	AC	1316	9	145
BABBITT B.A.	V.	13613	81	158
BABCOCK MELVIN	нтм	12493	96	130
BABGOCK MELVIN	AC	11703	87	134
BAHUE ROBERT	BE	538	3.	179
BAIRD CHARLES	ME	14099	84	167
BAIRD CHARLES	E.	12721	75	169
BAIRD CHARLIES	AB	5508	33	166
BAKER HENT	FTM	415	3	138
BAKER KENT	TC	13674	9 0	151
BAKER MICHAEL .	IN	14478	84	172
BAKER MICHAEL	E	14841	87	165
BAKEP RICK	BE	11647	81	143
SALBACH ROY	Ē	17043	73	183
BALBACH ROY	CA ·	1424	9	158
				162
BALBACH ROY	HAB	7167	39	
BALBACH ROY	ME	16674	90 00	105
BALES RONALD	ROC	12240	90 1 D	134
BALTZELL GREG BANRICK ROBERT	sb Wm	1717 14277	12 96	143

4 A 182.

. .

·.

****	***************************************				
امیلاریک در در	NAME		TOTAL PINS		AVERAGE
* * * *	******				•
	BANKS STANLEY	F FTM	5700	35	162
-	BANKS STANLEY BANKS STANLEY		. 2237	15	149
-		CA	13058	87	150
-	BARNEY KENT BARRY JOHN	TL	15632	87	179
	•	ROC	5803	39	148
	BARTH KENNETH BAUCH RONALD	AB	14306	93	153
		SB	5129	36	142
	BEADLE GLEN	IND	14233	87	163
	BEANS CHESTER	AB	14494	87	166
	BEANS CHESTER	HIB	1564	9	173
	BEAUMONT MICHAEL	ROC	5674	42	132
	BEBENSEE JAMES BECK CHARLES	58 	474	2	158
	BECKMAN LARRY	MI	1209	9	134
	BEEZLEY DEAN	BE	5906	39	151
	BEGEMAN WILLIAM	CL Sb	14915 15042	84	177
	BEHN MICHAEL	CR		90	167
	BEHRENDS ROGER	•	13311	90	147
	BELL KEITH	SER TC	3228	21	153
	BELSCHNER GERALD		12443 17529	87	143
	BELSCHNER GERALD	V	17529	95 · · · · · · · · · · · · · · · · · · ·	192 179
	BENDFELDT ROBERT	SB ·		70 3	-
	BENNETT SAMMY	50 E	277		· 72
			16674	76 D1	173
	BENNETT SAMMY BENNETT SAMMY	BE	16240	96	169
	BENNETT SAMMY	SER V	5140 7002	36	170
	PENDETT SAMMY	THC	3002 5784	18 33	100
	BENNETT SAMMY	RDC	3246	18	175 180
	BENNETT SAMMY	DS	12226	18 69	
	PENNETT SAMMY	CL	16505	95	177
-	BENNETT STEVEN	HCA	4532	75 48	136
	BENSON WILLIAM	CL	13375	81	165
-	BERGMETER ALLEN	SCA	1495		155
	BERGSTROM MICHAEL	TL	11156	78	143
	EERNT THOMAS	CA	12847	87	147
	PERNTH JIM	SA	11982	90	133
	BEST FRED	· V	2274	. 15	151
	BEST JIMMIE	Ē	1094	5	162
	BEST JIMMIE	ME	15421	97.	163
	BEST JIMMIE	AC	1483	7	1.4
	BEST JIMMIE	FNF	13917	97	150
	BEST JIMMIE	EB	1578	9	177
•	BETZOLD THOMAS	SB	10217	69	143
	BETZOLD THOMAS	BE	1847	12	153
	BEVARD ROBERT	BE	13574	87	100
	BEVARD VICTOR	MR	3298	23	143
	BIDDLE DAVID	MI	5064	48	105
	BILLINGS GARY	NT NT	13894	91 81	171
	BILLINGS GRAY	181	13444	81	165
	BILSLEND IVAN	PT	7474	50	147
•	DYFORCHN TANKA	17 I	7 mg 7 mg	00	1.17

***	***********	*****	******	****
NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE
*************************	*******	*******	· · · · · · · · · · · · · · · · · · ·	*******
BILSLEND JERRY	PT	9005	ස්ර	136
BILSLEND STAN	· PT	7345	54	136
BILSLEND WILLIAM	PT	1399	12	116
BINDEL DAVID	SNM	12897	87	148
BINDEL DAVID	NT	12584	97	144
BINDEL WILFRED JR	SNM	1656	12	139
BINDEL WILFRED SR	SNM	14307	93	153
BIRKMAN RICHARD	TL	481	3	140
BIRKHAN STEVEN	CIT	14063	90	156
BIRKMANN ELMER	MI	11759	75	154
BIRKMANN STEVEN	MI	6120	39	156
BLAHA JERRY	TL	10931	81	134
BLAHA RICHARD	CA	10969	72	152
BLAHA RICHARD	CL	1914	12	159
BLANKENSHIP BRUCE	SB	3800	27	140
BLANKENSHIF GARY	CR	415	3	138
BLANTON RICK	BE	9356	56	242
BLANTON RONALD	OT	5791	45	28
BLEACH TERRY	PT	3621	24	150
BLEIL PATRICK	PT	730	6	121
BLINCOW RANDALL	CA	1329	9	147
BLINCOW RODNEY	SA	5448	35	147
BLODGETT MICHAEL	PT	9105	с и ЕС	144
BLOOMFIELD EDWARD	F	11568	a 5 .	175
BLUE RAYMOND	HAB	13521	32 . 70	150
BOCK ELDER	F	14333	37	164
BOELL DOUGLAS	BE	12810	87	147
BOELTER LEE	MI	1504	9	
BOGNER JAMES	MI	14907	96	167
BOLIN JAMES	NT	3408	27	155
BULIN JAMES .	TL	1152	9	133
BOHBECK IVAN	IN	13727	9 93	129
BOND GARY	BE	15767		147
BUND GARY	CL	538	93 . 3	169
BOUKAL ROBERT	SNM	12100		179
BOULAND ELLIS	IN	6427	90	134
BOUFLAND ELLIS	CIT	11851	46 83	139
BOURLAND ELLIS	E.	1315	00-0 	142
BOURLAND ELLIS	SER	2830		146
BOURLAND ELLIS	MI	2830 9152	21	134
BOWMAN BUTCH	CT		65	138
BOWMAN EDWARD	C0	11691	31	114
BOWMAN MARK	<u> </u>	1362	7	151
BOWHAN MARK	AB	13222	81	163
Bowman Mark	BE	3466	21	145
BOYLE TODD	SB	3842	24	160
BRADY CONNIE		6166 17057	42	145
BRANDT BRADLEY	HAB	13853	93	148
BRANDT CHARLES	RA	764	. 6	127
ERANDT CHARLES	IN	5560	33	158
TICHING CUMUES	CIT	13320	75	177

ł

۰.

**************************************	LEAGUE	rayarskaksterr Totol Pins	**************************************	44************** Average
*********	******	******	***************************************	1 · · · · · · · · · · · · · · · · · · ·
BRANDT LEAN	RA	12070	84	143
BRANDT ROY	ra Eb	14423	96	150
BRANDT STEVEN	RA	442	3	147
BRANDT TED	TC ME	13187	81	152 7
BRANDT THOMAS	ME	10854	87	1.24
BRAY TED	MI	12128	87	139
BREDENKAMP RODNEY	CR	10507	65	152
BREINER RODNEY	SB	9084	72	126
DRIGGS ELDON	SCA	349	3	
BRIGGS ELDON	HCA	3599	48	116
BRIMLOW MICHAEL	V	13735		114
ERISEIN GORDON	SB		. 75 .	183
BROADFOOT TERRY	20 E	10139	78	129
BROEKEHEIER BROEK	CA	14480 -	86	168
BROOKS BRYON		11116	75	143
	CO	12845	90	142
BROWN RICHARD	SER	10282	63	163
BROWN RICHARD	ROC	8604	54	159
BRUENING JIM .	AB	13775	90	153
BEYBON MICHAEL	SA	12661	91	154
BRYSON TERRY	SB	14408	945	150
BRYSON TERRY	SA	4740	30	159
BSTANDIG JAMES	SCA	2415	18	134
DSTANDIG JAMES	TMC	727	.5	121
BETANDIG JAMES	HCA	5248	48	130
OUDAR RICKY	FTM	3337	20	111
BUCHTA WILLIAM	NT	11107	84	132
BUCK NILES	OT	909	ė,	151
BUDLER PAT	BE	12417	81	153
	SB	938	6	156
BUSCHLE KEITH	TL	12226	84	145
RUEHLER JAMES	SA	13706.	90	152
- OUEHLER KENNETH	E	9835	78	125
BUGAY DOUGLAS	PII	473	3	157
PUGAY DOUGLAS	V	11927	79	152
BUGAY RICHARD	MI	12821	78	ب د :
BUMBER LARRY	AB	19291	9 0	166
BUNTENEYER BICHAEL	SB	729	6	121
JURGER SREG	111	15224	93	163
EURGESS LARRY	TL	413	3	1.37
LAURE WILLIAM -	V	10063	72	139
BURHOOD DEAN	HIB	14495	90	1.51
BURMOOD DEAN	THC	13440	82	143
BURNS ROBERT	FNF	10057	51	124
BURTON ROBERT	F	13546	84	141
BUSCH TIMOTHY	THE	13947	90	154
RUSEF DANIEL	TL	12213	84	145
BUSER DANIEL	FTH	13561	90 90	150
CALLEROZ STEVEN	HIB	428	i bai mar tait	142
CAMPBELL CHARLES	FINE	445		148
CAMPBELL CHARLES	SD	12105	78	(35
الاستان ميكن منها (1970 - 1972 ميل مان يكون ميل ميكريس ميكر (1972 ميل). الاستان ميكن ميكان (1970 ميل مان ميكون ميل ميكريس) ميكريس ميكرين (1972 ميل).	C24.7	المنافية شايم ه	/ 0	الى 24 ي

NAME LEAGUE TOTAL PINS TOTAL LOWS CAMPES Average CAMPELL DAUD NE 9531 54 157 CAMPELL DAUDA HIB 135333 97 165 CAMPELL JACK FNF 12445 78 155 CAMPELL JACK FNF 12452 90 157 CAMPELL JACK FNF 12452 90 159 CAMPELL JACK FNF 12452 90 159 CAMPELL JACK FNF 12452 90 159 CAMPELL JACK FNF 1442 9 160 CARESON LEWARREN CT 14947 70 166 155 CARMAN JERRY SB SO000 21 142 1442 CARMAN JERRY SB SO000 21 142 CARPENTER MICHAEL RC 127153 90 142 CARPENTER MICHAEL						
CAMPBELL DAVID NE 951 54 157 CAMPBELL DAVID HTB 15533 93 165 CAMPBELL JACK FMF 12445 78 159 CAMPBELL JACK FMF 12445 78 159 CAMPBELL JACK FMF 12445 78 159 CAMPDELL THOMAS CO 12562 90 139 CAMPSELL DAMES FE 1442 7 160 CAREGON LEARAREN CT 14947 70 166 CARDA MARIS AF 7497 57 151 CARESON LEMARREN CT 1444 9 160 CARLSON LEMARREN CT 12495 81 157 CARLSON LEMARREN CT 12435 64 155 CARPENTER MALTER TC 12795 90 142 CARRENA JERY BB 3000 21 142 CARRENA JERY MC 652 46 132 CAR		NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE
CAMPBELL JOUGLAS HTB 15333 93 165 CAMPBELL JOUK FMF 12453 78 159 CAMPBELL JOKK FMF 12453 78 159 CAMPBELL JOKK FMF 1242 7 160 CAMPBELL JACK FE 1442 7 160 CAMPBELL JACK FE 1442 7 160 CAMPBELL JACK FE 1447 70 166 CARLON CARLOS TC 14947 70 166 CARLEON LEWARREN ME 12975 61 157 CARLSON LEWARREN CL 11446 7 160 CARPEND LEWARREN CL 11476 72 157 CARMAN JERRY SB 3000 21 142 CARPENTER MICHAEL ROC 127053 90 142 CARPENTER MICHAEL ROC 12035 6 142 CARPENTER MICHAEL ROC 7768 6 142		"京北东京京东京市家家家家家家家家家家家家家家家家家家家家家家家家家家家家家家家家	*******	********	***************	******
CAMPBELL JACK FMF 12445 78 159 CAMPBELL JACK FMF 12445 79 139 CAMPBELL JAMES DE 1442 9 139 CAMPFIELD JAMES DE 1442 9 140 CAREND CARLOS TC 14947 70 166 CAREDN LEARAREN CT 14447 9 160 CARLSON LEMARREN CT 14446 9 160 CARLSON LEMARREN CT 1446 9 160 CARENA JERNY SB 3000 21 142 CARMENA JONY ROC 6262 46 136 CARFENTER MICHARET ROC 10205 6 132 CARRANDA TONY AF 7966 60 132 C		CAMPBELL DAVID	HE	8531	54	157
CAMPBELL THOMAS CO 125A2 PO 139 CAMPBELD THOMAS EE 1442 9 150 CAMPELLAN CRAIG HCA 1102 9 122 CAREON CARLOS TC 149477 70 166 CAREON LEWARREN HE 12895 81 157 CARLSON LEWARREN CL 11496 72 160 CARLSON LEWARREN CL 11496 72 159 CARMAN JERRY SB 3000 21 142 CARPAIN JERRY SB 3000 21 142 CARPAIN JERRY SB 3000 21 142 CARPENTER NICHAEL ROC 6252 46 132 CARPENTER NICHAEL RC 857 48 137 CARPENTER NICHAEL RN 6577 48 132 CARPENTER NICHAEL ROC 852 6 142 CARPENTER NICHAEL RO 153 139 CARPENTER NO		CAMPBELL DOUGLAS	HIB	15353	93	165
CALFFIELD JAMES PE 1442 9 100 CAPPELLAN CRAIG HDA 1102 9 122 CARBON CARLOS TC 149477 90 166 CARDA MARIS AF 7497 57 131 CARLSON LEWARREN CT 1444 9 160 CARLSON LEWARREN CT 1444 9 160 CARMAN JERRY 5B 3000 21 142 CARMAN RONALD CT 10263 66 155 CARPENTER NICHAEL ROC 6262 46 136 CARPENTER NICHAEL ROC 6262 46 136 CARPENTER NICHAEL ROC 6262 46 137 CARE CORY AF 7968 60 132 CARE CORY		CAMPBELL JACK	FMF	12445	78	159
CAPELLAN CRAIS HCA 1102 9 122 CARRON CARLOS TC 14947 90 164 CARLON CARLOS TC 14947 90 164 CARLSON CARLOS TC 14947 90 164 CARLSON LEWARREN HE 12995 51 157 CARLSON LEWARREN CL 11496 72 159 CARNAN JERRY SB 3000 21 142 CARMAN JERRY SB 3000 21 142 CARPANN JERRY NC 12705 90 142 CARRENTER NICHAEL ROC 6262 46 136 CARRE CORY MR 6397 48 137 CARR DUBLAS AC 52 6 142 CARRADA TONY N 13304 95 139 CARRADZA TONY N 13304 95 139 CARRADZA TONY N 13304 140 15 CARSTANZA TONY<		CAMPBELL THOMAS	CO	12562	90	139
CARBON CARLOS TC 14947 90 166 CARBON CARLOS TC 14447 90 166 CARLSON LEWARREN CT 1446 7 157 CARLSON LEWARREN CT 1446 7 160 CARLSON LEWARREN CL 11496 72 157 CARMAN RENALD CT 10263 66 155 CARMAN RONALD CT 10263 66 155 CARMAN RONALD CT 10263 66 136 CARPENTER MICHAEL RDC 6252 46 137 CARE DOUGLAS MI 11991 94 141 CARE DOUGLAS MI 11304 95 138 CARE DOUGLAS MI 1304 95 138 CARE DOUGLAS MI 1304 95 138 CARE DOUGLAS MI 137 144 CARE DOUGLAS RA 165 122 146 CARE DOUGLAS NC 153 120 139 CARE DOUGLAS RA 165 <td></td> <td>CANFIELD JAMES</td> <td>BE</td> <td>1442</td> <td></td> <td>160</td>		CANFIELD JAMES	BE	1442		160
CARBON CARLOS TC 14947 90 166 CARBON CARLOS TC 14447 90 166 CARLSON LEWARREN CT 1446 7 157 CARLSON LEWARREN CT 1446 7 160 CARLSON LEWARREN CL 11496 72 157 CARMAN RENALD CT 10263 66 155 CARMAN RONALD CT 10263 66 155 CARMAN RONALD CT 10263 66 136 CARPENTER MICHAEL RDC 6252 46 137 CARE DOUGLAS MI 11991 94 141 CARE DOUGLAS MI 11304 95 138 CARE DOUGLAS MI 1304 95 138 CARE DOUGLAS MI 1304 95 138 CARE DOUGLAS MI 137 144 CARE DOUGLAS RA 165 122 146 CARE DOUGLAS NC 153 120 139 CARE DOUGLAS RA 165 <td></td> <td>CAPELLAN CRAIG</td> <td>HCA</td> <td>1102</td> <td>9</td> <td>122</td>		CAPELLAN CRAIG	HCA	1102	9	122
CARDA MARIS AF 7497 57 131 CARLEON LEWARREN ME 12695 81 159 CARLEON LEWARREN CL 11446 7 160 CARLSON LEWARREN CL 11496 72 157 CARMAN JERRY SB 3000 21 142 CARMAN JERRY RD 66 155 CARPENTER MICHAEL ROC 6262 46 136 CARR CORY MR 6577 48 137 CARE CORY MR 6577 48 132 CARE CORY MR 6577 48 137 CARE CORY MR 6577 48 132 CARE CORY MR 552 6 142 CARE CORY MR 1304 96 139 CARE CORY SA 421 3 140 CARE CORY SA 122 139 142 CARE CORY SA 1753 12 <td></td> <td>CARBON CARLOS</td> <td>TC</td> <td>14947</td> <td></td> <td>156</td>		CARBON CARLOS	TC	14947		156
CARLSON LEWARREN CT 1446 9 160 CARLSON LEWARREN DL 11496 72 159 CARMAN JERNY SB 3000 21 142 CARMAN JERNY SB 3000 142 142 CARPENTER MULTER TC 12705 90 142 CARE CORY AF 7968 60 132 CARE DUGLAS MI 11371 84 141 CARE DUGLAS AC 852 6 138 CARENDUZAS AC 851 12 146 CASEL MORK CIT 14400 73 154 CASEL MORK CIT 14405 73 154 CASEL MORK CIT 14405 73 154 CASTILLO LARPY DE <td></td> <td>CARDA MARIS</td> <td>AF</td> <td>7497</td> <td>57</td> <td>131</td>		CARDA MARIS	AF	7497	57	131
CARLSON LEWARREN CL 11496 72 159 CARMAN JERRY SB 3000 21 142 CARMAN RONALD CT 102253 66 155 CARMAN RONALD RDC 6252 46 136 CARFENTEP MICHAEL RDC 6252 46 137 CARF CORY MR 6597 48 137 CARE DOUGLAS MI 11971 64 141 CARE DOUGLAS AC 852 6 142 CARRE DOUGLAS AC 852 6 142 CARRE DOUGLAS AC 852 6 142 CARRANZA TONY IN 13304 95 138 CAREANZA TONY SR 121 13 140 CASE LOREN SB 1763 12 139 CASE LORNK CIT 14405 93 164 CASTALR ERRAL RA 157 15 120 CASTALR ERAL KOC		CARLSON LEWARREN	ME	12895	81	159
CARMAN JERRY SB 3000 21 142 CARMAN RDNALD CT 10263 66 155 CARPENTER NICHAEL RDC 6242 46 136 CARPENTER NICHAEL RDC 6242 46 136 CARPENTER NICHAEL RDC 6242 46 137 CARPE CORY AF 7963 60 132 CARE DUUGLAS MI 11371 64 141 CARE DUUGLAS AC 852 6 142 CARRANZA TONY IN 13304 95 138 CARSEL DARK BE 1763 12 146 CARSEL DARK CIT 14405 73 154 CARSEL MARK CIL 18501 73 177 CASTANEDA TONY AC 5521 48 118 CASTANEDA TONY AC 5521 48 140 CASTANEDA TONY AC 5521 8 140 CASTANEDA TONY <td></td> <td>CARLSON LEWARREN</td> <td>CT</td> <td>1446</td> <td>7</td> <td>150</td>		CARLSON LEWARREN	CT	1446	7	150
CARMAN RONALD CT 10263 66 155 CARPENTER NICHAEL* RDC 6262 46 136 CARFENTER WALTER TC 12703 90 142 CARFE CORY MR 6597 48 137 CARR CORY AF 7968 60 132 CARR DUBLAS MI 11391 84 141 CARR DUBLAS AC 852 6 142 CARR DUBLAS AC 852 6 142 CARRANZA TONY IN 13304 75 139 CARRANZA TONY IN 13204 75 139 CARRANZA TONY SA 421 3 140 CASEL LOREH SB 1763 12 139 CASEL LOREH SA 1473 144 146 CASEL MORK CIT 14003 73 154 CASEL MORK CIT 14403 77 165 CASTANEED ANTONY AC </td <td></td> <td>CARLSON LEWARREN</td> <td>CL</td> <td>11496</td> <td>72</td> <td>159</td>		CARLSON LEWARREN	CL	11496	72	159
CARMAN RONALD CT 10263 66 155 CARPENTER MICHAEL ROC 6262 46 136 CARFENTER MOLTER TC 12705 90 142 CARFE DORY MR 6577 48 137 CARR DURY AF 7968 60 152 CARR DUGLAS MI 11391 84 141 CARR DUGLAS AC 852 6 142 CARRANZA TONY IN 13304 75 139 CARRANZA TONY SA 421 3 140 CASELDREM SB 1763 12 145 CASELARREN CIT 144005 73 154 CASELELOREM SE 1761 480 145 CASTANEDA TONY AC 5521 48 146 CASTANEDA TONY AC 5521 48 140 CASTANEDA TONY AC 5521 48 140 CASTANEDANIEL CI		CARMAN JERRY	SB	3000	21	142
CARPENTER NICHAEL RDC 6262 46 136 CARPEDNTER WALTER TC 12705 90 142 CARPE CORY MR 6597 48 137 CARE CORY AF 7968 60 132 CARE DOUGLAS MI 11391 84 141 CARE DOUGLAS AC 952 6 142 CARRANZA TONY IN 13004 75 136 CARRANZA TONY SA 421 3 140 CASTANZA TONY SA 421 3 140 CASTANZA TONY SA 421 3 140 CASTANEAL ONY SA 421 3 140 CASTANEL RACK RA 1675 154 154 CASTANEA TONY AC 5521 48 115 CASTANEDA TONY AC 5521 48 140 CASTRE CLINTON V 1807 15 120 CASTRE CLINTON V		CARMAN RONALD	CT	10263		155
CARFENTER WALTER TC 12785 90 142 CARE CORY MR 6597 48 137 CARE CORY AF 7968 60 152 CARE DUGLAS M1 11391 84 141 CARRANCA TONY AC 852 6 142 CARRANCA TONY IN 13304 96 139 CARRANCA TONY IN 13204 96 139 CARRANZA TONY SA 421 3 140 CARRANZA TONY SA 421 3 140 CASELLOREN SB 1763 12 139 CASELLOREN CL 16501 73 154 CASTILLO LARRY BE 11817 84 115 CASTILE CLARTON V 5507 33 166 CASTILE CLATON V 1807 15 129 CASTILE CLARTON V 1807 15 129 CANTER CONDALD CIT <td></td> <td>CARPENTER MICHAEL</td> <td>RDC</td> <td>6262</td> <td></td> <td></td>		CARPENTER MICHAEL	RDC	6262		
CAPE CORY MR 6577 46 137 CAPE CORY AF 7968 60 132 CARE DUUGLAS AC 852 6 142 CARE DUUGLAS AC 852 6 142 CARE DUUGLAS AC 852 6 142 CARRANZA TONY IN 13304 96 138 CARRANZA TONY SA 421 3 140 CASELLAR ERRAL CANTANY SA 421 3 140 CASELL MARK CIT 14405 73 154 154 CASTANEDA TONY AC 5521 48 115 CASTANEDA TONY AC 5521 48 115 CASTANEDA TONY AC 5521 48 140 CASTANEDA TONY AC 5527 33 166 CASTANEDA TONY V 5507 33 169 CASTLE CLINTON V 5507 15 120 CASTLE CLINTON V 15062 94 186 CERVANTES CHARLES </td <td></td> <td>CARPENTER WALTER</td> <td>TC</td> <td></td> <td></td> <td></td>		CARPENTER WALTER	TC			
CAFR CORY AF 7968 60 1.32 CARR DOUGLAS M1 11391 84 141 CARRE DOUGLAS AC 852 6 142 CARRANZA TONY IN 13304 76 139 CARRANZA TONY IN 13304 76 139 CARRANZA TONY SA 421 3 140 CARSELLOREM SE 1743 12 144 CASELLOREM SE 1676 12 339 CASELLOREM CL 16501 73 154 CASTALD LARAY DE 11819 84 140 CASTALD LARAY NC 3746 24 154 CASTALD LARAY NC 331 3 110 CASTILLO LARAY NC 776		CARR CORY	MR		48	
CARP. DOUGLAS MI 11391 84 141 CARR DOUGLAS AC 852 6 142 CARRANZA TONY IN 13304 76 139 CARRANZA TONY SA 421 3 140 CABS LOREH SB 1743 12 145 CASEL LARE FRAL RA 1675 12 139 CASSEL MARK CIT 14405 93 154 CASSEL MARK CIT 14405 93 167 CASSEL MARK CIT 14405 93 164 CASSEL MARK CIT 14405 93 164 CASTANEDA TONY AC 5521 48 115 CASTANEDA TONY DE 11319 84 140 CASTANEDA TONY V 5507 33 166 CASTLE DAMIEL ROC 5946 24 154 CASTLE DAMIEL ROC 774 5 129 CAMANYOH DOMALD CIT 15806 93 169 CERVANTES CHARLES E		CARR CORY	AF	7968		
CARE DOUGLAS AC B52 5 142 CARRANZA TONY IN 13304 94 138 CARRANZA TONY SA 421 3 140 CARRANZA TONY SA 421 3 140 CASE LOREM SB 1763 12 146 CASE LAR ERRAL RA 1676 12 139 CASEL MARK CIT 14405 93 177 CASTANDAK CL 16501 93 177 CASTALE CLINTOM V 5507 33 166 CASTLED LARRY DE 11519 94 140 CASTLE CLINTOM V 5507 33 166 CASTLE CLINTOM V 5507 15 120 CASTLE CLINTOM V 15806 93 169 COREL JEFF HIB 331		CARE DOUGLAS	MI	11391		
CARRANZA TONY IN 13304 96 136 CAPRAMZA TONY SA 421 3 140 CASELLOREM SB 1763 12 146 CASELAREPRAL RA 1676 12 139 CASEL MARK CIT 144005 93 154 CASEL MARK CIT 144005 93 154 CASEL MARK CIT 144005 93 154 CASEL MARK CL 15501 93 177 CASTILLO LARRY DE 11819 94 140 CASTLE CLINTON V 5507 33 166 CASTLE DANIEL ROC 3746 24 164 CATLETT JEFF V 1807 15 129 CAMANORDH DONALD CIT 15806 93 169 CERVANTES CHARLES E 15642 64 186 CERVANTES CHARLES E 15642 64 186 CERVANTES CHARLES E 15642 64 186 CERVANTES CHARLES E </td <td></td> <td>CARE DOUGLAS</td> <td>AC</td> <td>852</td> <td>5</td> <td></td>		CARE DOUGLAS	AC	852	5	
CAPRAMZA TONY SA 421 3 140 CASE LOREN SB 1763 12 144 CASE LOREN RA 1676 12 139 CASE ERAL RA 1676 12 139 CASE ERAL CIT 14405 73 154 CASE ERAL CIT 14405 73 177 CASE ERAL CIT 14405 73 177 CASE ERAL CIT 14405 73 177 CASE ERAL COL 16501 73 154 CASE ELADA TONY AC 5521 48 140 CASTLE CLIATON V 5507 33 166 CASTLE CLIATON V 5807 15 129 CASTLE CLIATON V 1807 15 129 CASTLE CLIATON CIT 158		CARRANZA TONY	IN	13304		
CASE LOREM SB 1763 12 146 CASLAR ERRAL RA 1676 12 139 CASLAR ERRAL CI 1676 12 139 CASLAR ERRAL CI 16501 93 177 CASLAR ERRAL CI 16501 93 177 CASTANEDA TONY AC 5521 48 140 CASTALED LARRY BE 11819 84 140 CASTLE CLINTON V 5507 33 166 CASTLE DANIEL ROC 3946 24 164 CATLETT JEFF V 1807 15 120 CAVAMAYGH DOMALD CIT 15806 93 169 CEEVANTES CHARLES RC 776 5 129 CEERVANTES CHARLES BC 1562 54 186 CEEVANTES CHARLES IM 1123 37 169 CEEVANTES CHARLES IM 13225 72 183 CEEVANTES CHARLES IM 13225 72 183 CEEVANTES CHARLES		CARRANZA TONY	SA	421	3	
CA2SEL MORK CIT 14405 93 154 CASSEL FOY CL 16501 93 177 CASSEL FOY CL 16501 93 177 CASSEL FOY CL 16501 93 177 CASSEL FOY RC 5521 48 118 CASTILE LARRY DE 11817 84 140 CASTLE CLINTON V 5507 33 166 CASTLE CLINTON V 1806 93 169 COPEL JEFF V 1806 93 169 CEEVANTES CHARLES E 1565 3 185 CEEVANTES CHARLES WH 1125 6 189 CEEVANTES CHARLES IN 13225 12 183 CEEVANTES CHARLES IN 13225 12 183 CEEVANTES CHARLES IN		CASE LOREN	SP.	1763	12	
CALEBEL MARK CIT 14405 93 154 CAEBEL POY CL 16501 93 177 CAEBEL POY CL 16501 93 177 CAEBEL POY CL 15501 93 177 CAEBEL POY CL 15501 93 140 CAEBEL POY DE 11819 84 140 CAEBEL CLINTOM V 5507 33 166 CAEBEL DANIEL ROC 3946 24 164 CATLETT JEFF V 1807 15 120 CAMANAYOH DONALD CIT 15806 93 169 COPEL JEFF HIB 331 3 110 CEEVANTES CHARLES E 15662 54 186 CEEVANTES CHARLES SER 555 3 183 CEEVANTES CHARLES IN 13225 12 183 CEEVANTES CHARLES IN 13225 12 183 CEEVANTES CHARLES IN 13225 12 164 CEEVANTES JOE AB <td></td> <td>CABLAR ERRAL</td> <td>PA</td> <td>1676</td> <td>12</td> <td>139</td>		CABLAR ERRAL	PA	1676	12	139
CASTANEDA TONY AC 5521 48 115 CASTILLO LAREY DE 11517 84 140 CASTLE CLINTON Y 5507 33 146 CASTLE CLINTON Y 5007 15 129 CAMANYGH DOMALD CIT 15806 93 169 COPEL JEFF HIB 331 3 110 CBPEL JEFF ROC 776 5 129 CERVANTES CHARLES E 15662 64 186 CERVANTES CHARLES BER 575 3 185 CERVANTES CHARLES IM 1125 6 187 CERVANTES CHARLES IM 1125 72 145 CERVANTES CHARLES IM 1225 72 145 CERVANTES CHARLES SB 11903 72 145 CERVANTES JOE		CASSEL HARK	CIT	14405	9 7	54
CASTILLO LARRY DE 11319 94 140 CASTLE CLINTON V 5507 33 166 CASTLE CLINTON V 5507 33 164 CASTLE CLINTON V 5507 33 164 CASTLE CLINTON V 1807 15 120 CATLETT JEFF V 1807 15 120 CAVANAYOH DONALD CIT 15806 93 169 CEPEL JEFF ROC 776 5 129 CERVANTES CHARLES E 15662 64 185 CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES IM 13225 73 183 CERVANTES CHARLES IM 13225 73 185 CERVANTES CHARLES IM 13225 73 145 CERVANTES CHARLES SE 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR BE 15802 93 171 CERVANTES VICTO		CHESEL BOY	CL	15501	93	177
CASTLE CLINTON V 5507 33 166 CASTLE DANIEL ROC 3946 24 154 CATLETT JEFF V 1807 15 120 CAVANAYOH DONALD CIT 15806 93 169 COPEL JEFF HIB 331 3 110 CEPEL JEFF ROC 776 6 129 CERVANTES CHARLES E 15662 64 186 CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES IM 13205 72 183 CERVANTES CHARLES IM 13205 72 183 CERVANTES CHARLES IM 13205 72 145 CERVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15802 93 168 CERVANTES VICTOR E 15802 93 169 CERVANTES V		CASTANEDA TONY	AC	5521	48	.115
CASILE DANIEL ROC 3946 24 154 CATLETT JEFF V 1807 15 120 CAWANAYGH DONALD CIT 15806 93 169 CEPEL JEFF HIB 331 3 110 CSPEL JEFF ROC 776 5 129 CERVANTES CHARLES E 15662 54 185 CERVANTES CHARLES SER 555 3 183 CERVANTES CHARLES NM 1125 4 185 CERVANTES CHARLES NM 13225 72 183 CERVANTES CHARLES IN 13225 72 145 CERVANTES CHARLES IN 13225 72 145 CERVANTES CHARLES IN 13225 72 145 CERVANTES CHARLES S8 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15654 93 166 CERVANT		CASTILLO LARRY	DE	11317	34	140
CATLETT JEFF V 1807 15 120 CAMANAYGH DONALD CIT 15806 93 169 CEPEL JEFF HIB 331 3 110 CEPEL JEFF ROC 776 6 129 LERVANTES CHARLES E 15662 64 186 CERVANTES CHARLES E 15662 64 189 CERVANTES CHARLES E 15662 64 189 CERVANTES CHARLES WM 1125 6 189 CERVANTES CHARLES IN 13225 12 183 CERVANTES CHARLES IN 13225 12 183 CERVANTES JOE SB 11903 22 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR RE 15802 93 169 CERVANTES VICTOR E 15802 93 169 CERVANTES VICTOR E 15802 93 169 CHAMBERLIN		CAETLE CLINTON	₩	5507	33	166
CAMANAYOH DONALD CIT 15804 93 169 CEPEL JEFF HIB 331 3 110 CEPEL JEFF ROC 776 5 129 LERVANTES CHARLES E 15662 54 186 CERVANTES CHARLES SER 555 3 183 CERVANTES CHARLES SER 555 3 183 CERVANTES CHARLES SER 555 3 183 CERVANTES CHARLES NM 1125 6 189 CERVANTES CHARLES IM 13225 72 183 CERVANTES CHARLES IM 13225 72 145 CERVANTES CHARLES CL 14713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR PE 15654 93 164 CERVANTES VICTOR E 15802 93 167 CHAMEERLIN LARRY AB 11274 49 164 CH		CASTLE DANIEL	ROC	3946	24	154
COPEL JEFF HIB 331 3 110 CSPEL JEFF ROC 776 5 129 CERVANTES CHARLES E 15662 64 186 CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES WM 1135 4 186 CERVANTES CHARLES WM 1135 4 187 CERVANTES CHARLES IN 13225 02 183 CERVANTES CHARLES L 16713 87 192 CERVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR BE 15634 93 171 CERVANTES VICTOR BE 15802 93 169 CHARRY JERRY AB 11274 49 149 CHERRY LAVERN CL 15243 90 169 CHERRY LAVERN </td <td></td> <td>CATLETT JEFF</td> <td>Ŷ</td> <td>1807</td> <td>15</td> <td>120</td>		CATLETT JEFF	Ŷ	1807	15	120
CUPEL JEFF ROC 776 5 129 LERVANTES CHARLES E 15662 54 186 CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES MM 1135 4 189 CERVANTES CHARLES MM 13225 73 183 CERVANTES CHARLES IM 13225 73 183 CERVANTES CHARLES SB 11903 72 145 CERVANTES JOE SB 11903 72 145 CERVANTES VICTOR BE 15654 93 171 CERVANTES VICTOR E 15802 93 169 CHEREY JERRY SA 7145 48 1427 CHERRY LAVERN CL 15245 90 169		CAMANAYGH DONALD	CIT	15804		169
LERVANTES CHARLES E 15662 S4 186 CERVANTES CHARLES SER 555 3 183 CERVANTES CHARLES WH 1135 A 189 CERVANTES CHARLES IM 13225 72 183 CERVANTES CHARLES IM 13225 72 183 CERVANTES CHARLES IM 13225 72 145 CERVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15654 93 169 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 49 163 CHERRY JERRY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 79 154			HIB	331	3	110
CERVANTES CHARLES SER 555 3 185 CERVANTES CHARLES WM 1135 4 187 CERVANTES CHARLES IM 13225 T3 183 CERVANTES CHARLES IM 13225 T3 183 CERVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15802 93 168 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JEERY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 5112 21 149 CHERRY ROBERT SA 3511 21 1427 CHERRY ROBERT SA 3511 21 1427 CHIERM	-	CEPEL JEFF	ROC	776	5	129
CERVANTES CHARLES WM 1135 6 189 CERVANTES CHARLES IM 13225 T2 123 CERVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR BE 15995 93 171 CERVANTES VICTOR BE 15454 93 168 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 49 163 CHERRY JERRY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 29 169 CHERRY ROBERT SA 3511 21 147 CHERRY ROBERT SA 3511 21 147 CHERRY RICK						186
CSRMANTES CHARLES IN 13225 TR 183 CERMANTES CHARLES CL 16713 87 192 CERMANTES JOE SB 11903 72 145 CERMANTES JOE AB 6398 39 164 CERMANTES JOE AB 6398 39 164 CERMANTES VICTOR ROC 15995 93 171 CERMANTES MICTOR BE 15654 93 168 CERMANTES MICTOR E 18802 93 169 CERMANTES MICTOR E 18802 93 169 CHAMEERLIN LARRY AB 11274 49 163 CHERRY JEERY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 35 164 CHERRY ROBERT SA 3511 21 127 CHERRY ROBERT SA 3511 21 123						
CEEVANTES CHARLES CL 16713 87 192 CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15634 93 168 CERVANTES VICTOR E 18802 93 168 CERVANTES VICTOR E 18802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JEERY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 79 154 CHERRY ROBERT SA 3511 21 127 CHERRY ROBERT SA 3511 21 123						
CERVANTES JOE SB 11903 72 145 CERVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15634 93 168 CERVANTES VICTOR BE 15634 93 168 CERVANTES VICTOR E 15802 93 168 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JERRY SA 7145 40 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 3432 39 154 CHERRY ROBERT SA 3511 21 147 CHERRY ROBERT SA 3511 21 143						
CEEVANTES JOE AB 6398 39 164 CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR BE 15654 93 168 CERVANTES VICTOR E 15802 93 169 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JEERY SA 7155 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 5432 37 154 CHERRY ROBERT SA 3511 21 123						
CERVANTES VICTOR ROC 15995 93 171 CERVANTES VICTOR PE 15654 93 168 CERVANTES VICTOR E 15802 93 169 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JEERY SA 7155 48 149 CHERRY LAVEEN CL 15245 90 169 CHERRY LAVEEN CL 15245 90 169 CHERRY LAVEEN AB 6432 29 154 CHERRY ROBERT SA 3511 21 157 CHISH RICK SER 9979 81 123						
CERVANTES VICTOR PE 15654 93 168 CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JERRY SA 7135 40 149 CHERRY LAVERN CL 15243 90 169 CHERRY LAVERN CL 15243 90 169 CHERRY LAVERN AB 5432 29 154 CHERRY ROBERT SA 3511 21 127 CHISH RICK SER 7979 81 123				6398		
CERVANTES VICTOR E 15802 93 169 CHAMEERLIN LARRY AB 11274 69 163 CHERRY JERRY SA 7155 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 5432 29 154 CHERRY ROBERT SA 3511 21 127 CHISH RICK SER 9979 81 123				15998		
CHAMBERLIN LARRY AB 11274 69 163 CHERRY JERRY SA 7155 40 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 5432 39 154 CHERRY ROBERT SA 3511 21 157 CHISH RICK SER 9979 81 123				15654		
CHERRY JERRY SA 7145 48 149 CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 39 154 CHERRY ROBERT SA 3511 21 157 CHISH RICK BER 9979 81 123			E	15802	93	
CHERRY LAVERN CL 15245 90 169 CHERRY LAVERN AB 6432 37 154 CHERRY ROBERT SA 3511 21 127 CHISH RICK SER 9979 81 123						
CHERRY LAVERN AB 6432 Z9 154 CHERRY ROBERT SA 3511 21 127 CHISH RICK SER 7979 81 123						
CHERRY ROBERT SA 3511 21 127 CHISH RICK BER 7979 81 123			C1.	15245		:69
CHISH RICK SER 9979 81 123						•
						•
CHRAMOŞTA GARY MI 13110 30 163						
		CHRAHOSTA GARY	MI	13110	30	142

		EAGUE TO	DTAL PINS TOTA	AL GAMES	AVERAGE
* & *	\$				
-	CHRISTENSEN ROBERT	PT	10929	71	153
	CHURCH RICK	RA	451	3	150
-	CLARK CHARLES	CA	11105	66	168
	CLARK CHARLES	E	9559	57	167
	CLARK ERNEST	SB	5082	33	154
•	CLARK MICHAEL	SB	11360	-	145
	CLARK MIKE	AB	14073	87	161
,	CLAYTON DAVID	V	10027	63	159
· · ·	CLEAVER CAFL	ПI	1011	5	168
		SB	810	6	135
	CLELAND ENVER	ME	11366	72	157
	CLEMENT GARY	SER	13452	87	154
	CLEVENGER ROBERT	MI	385	2	129
	CLEVER CARL	BE	6409	39	154
	CLIFTON RAY	BE	13703	97	157
	CLINE KEVIN	PT	1080	ኇ	120
•	CLINEBELL SAMUEL	нтм	9624	90	106
	CLIMGER ORIN	CIT	11244	75	149
	CLOYED RICHARD	CR	14072	84	167
	COCHNAR JAMES,	FTM	2401	21	123
	COE NORMAN	SNM	14225	96	148
	COFFMAN EANDY	SCA	. 7372	48	153
	COLE HERBY	CR	13114	97	1.150
	COLE RICK	BE	15542	90	172
	COLE RICK	Ε	460	3	153
	COLE RICK	CA	15772	96 96	164
	COLE RICK	CL	343	7 0	
	CULLEROZ STEVEN	SCA	4605	0 30	181
	COLLIER WILLIAM	OT	12503	50 50	153
	COLLIER WILLIAM	SB	9994		139
-	COMPTON JAMES	FTM	12587	72	138
	CONE RICHARD	MI	13150	87	144
-	CONNOR BRADLEY	SB	7134	84	156
	COONEY RICHARD	MI		51	140
	CORDER RONALD	OR	3471 790	27	128
	CURRIGAN REED	TL		6	132
	COSTILLO LARRY	SB	14404	90 T	<u>1 - (</u>)
	COVALT DAN		4921	33	149
	COVALT DANIEL	AB FR	7658 NE 10	59 5	163
	COVERT DARRELL	CD	1518	Ċ,	158
	CRABTREE SHELDON	CO	14400	96	150
		PT	5479	<u>79</u>	140
	CRANDALL ROBERT	TC	379	3.	126
	CRATER JAMES	BE	4472	36	124
	CRAWFORD TROY	CA	14488	95	150
	CRISS RONALD	F	1343	9	151
	CROCHER JAMES	ІМ	1706	12	142
	CROPP LARRY	AC	11548	S1	142
	CRUMM ALFRED	HTH	12056	76	
	CEUMH JEERY	HTH	8707	63	138
	CRUMM ROGER	1121-1	2935	24	1.22

***************************************	*****	*****	*****	*****
NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE
***********************	*本本书本书书书书书书			*******
CUDABACK JAMES	CIT	14025	93	150
CUMMINGS ROBERT	SB	10257	78	131
CUNNINGHAM RICHARD	TMC	16832	84	200
CUNNINGHAM RICHARD	E	1122	6	187
CUNNINGHAM RICHARD	BE	9471	53	178
•	HIB	2298	12	191
CUNNINGHAM RICHARD	CL	16996	87	195
CUNNINGHAM RICHARD	AB .	3911	21	186
DAAKE ROGER	FNF	13995	84	156
DAAKE ROGER	SER	15947	93	171
DAAKE WALTER	FNF	14435	73 90	160
DAAKE WALTER	CIT	8662	54	140
DAAKE WALTER	SER	14982	93	
DAAKE WALTER	IN	5148	33	161
DADY DENNIS	IN	5148		156
DADY DENNIS	CL	3253	3 18	172
DADY DENNIS	E	3253 16244	18 70	180
DADY GALE	E CL	16244 16912		180
		7104	ዎ <u>ሮ</u> ኛር	191
DAHL ELMER	E SER		39	182
DANE ELNER DANE WILLIAM	SER	13161	78	148
DAILY JAMES		9963	ٺٺ	151
· DATET JAMES	CR	15726	73	107
DALY DANIEL	SB	920 87	ė.	153
-	SB	935 1010	5	155
DALY WILLIAM	GD	12187	92	1.51
DAMRATOWSKI ALLEN	BE	14924	93 	140
DAMRATOWSKI ALLEN DAMBATOWSKI ALLEN	CO	10322	53	143
	AB	15211	95	158
DANBURG KEITH	RA	14332	9 6	149
DANBURG KEITH	AB	14401	96	150
DANIEL MICHAEL	V.	11430	78	146
	IN	2877	19	159
DANKER F NEIL	SER	1926	9	214
DAVIS GLENN	CO	13173	ϕ	140
DAVIS JEROME	MI	9145	72	127
DAVIS JOHN	PT	4581	33	138
DAVIS JOHN	TL	6846	51	124
DAVIS RICK	HAP	12322	9 <u>7</u>	172
DAVIS WILLIAM	V	13198	87	151
CAVISON LARRY ·	GD	5022	ేద	167
DAVISON LARRY	CR	15310	90	170
DAY LAVERN (FETE)	CA	15384	95	140
DELAET BRIAN	FTM	702	6	117
DELAET DONALD	E	15249	95	160
DELAET DONALD	SER	13928	90 90	154
SELAET DOUGLAS	CR	8572	50	142
DELAET EDWARD	BE	15741	96 9	142
DELAHUNTY JERRY	PT	8095	56 66	122
DELAHUNTY THOMAS	FT	8872	దం నర	124
DENISON MAYLON	CL.	14554	87	168
	-		۲. فينا ۲	a sur ar

********	******)TAL PINS TOTA ********	AL CAMES ((\$7.7***********************************	AVERAGE * * * * * * * * * * * *
DEMISON FOLAND	SER	449	3	149
DENISON ROLAND	SCA	6793	48	141
DENISON ROLAND	MI	1868	12	135
DENISON ROLAND	DS	5567	36	157
DENISON ROLAND	HCA	3970	27	147
DENNIS CLYDE	RUC	809	6	134
DETERDING SCOTT	AF	6288	- 54	116
DETTER JOHN JR	RE	15805	56	164
DETTER JOHN JR	CA	2514	15	167
DETTER JOHN JR	CO	16197	96	169
DETTER JOHN JR	LB	1948	12	162
DETTER JOHN JR	GD	15756	76	164
DEVITT RONALD	TC	11093	90	123
DILLEHARY TONY	F	13219	93	142
DIX LARRY	F	15033	93	151
DOHANDLE BERNARD	F	14330	84	170
DOMANDLE BERNARD	CIT	2669	15	177
DONAHUE RONALD	FNF	6949	53 53	110
DORSEY ANDY	AF	2900	27	107
DEABEK DENNIS	BE	15146	93	14.2
DEABEK DENNIS	AB	555	3	185
DRIER DONALD	SB	8524	36	153
DELSCOLL JEFF	TL	12513	75	166
SRIECOLL LLOYD	SER	13970	37 	140 .
DUERING BOB	BE	293	3	97
DUFFY DANIEL	V .	1421	9	159
DUHNING DAVID	SA	5459	51	126
DWORAK WILLIAM	SA	14059	90	155
EATON DAROLD	F	13278		.170
EBERLINE KENT Siberline kent	BE	15872	94	165
ECCREING RENT	SB CO	7615	48	158
ECKLOFF ROLAND	SIMM	15548	95	ist
	E E	13942	9 <u>7</u>	14分 (4)
	SB	12339		137
EILERS JUHN	F	5924 15532	45	131
EILERS FONALD	F	15691	96 97	1:1
EILERS ROMALD	EB	1/18	93 9	168
EINSPHAR RONALD	SB	4609	30	157
ELRICH TERRY	CÚ	10471	30 87	183
EMAL KENT	СТ	10686	72	120 149
EMAL KENT	SB	13176	97	151
ENGEL DONALD	HI	12407	87	र तन र देव
ENGLE WILLIAM		10366	49 	
ENQUIST RAYMOND	TC	14867	57 90	150 1
EFF LARRY	AB	13586	90 	
ERFELDING GARRY	E	7507		1 GU 1 3 9
ERFELDING JAMES	BE	3020	18	1.57
ERPELDING JAMES	E	14165	5.6 5.6	158
ERFELDING ROBERT	E.	12469	72	1 75
			-	

FAIRBANKS JAMES	CL HTM CD SA SCA HCA OT HTM CL ME SER SA HCA E CR SER HTM CD	13589 8463 15537 10610 7661 6837 2466 16249 3322 490 14799 16192 8219 15857 3833 14842 14935	78 54 96 48 45 15 93 21 3 93 93 93 93 95 24 93	174 155 161 159 151 164 174 158 163 1849 174 174 171 165
EVANS LARRY EVANS TED FAHRENBRUCH MARK FAHRENBRUCK MARK FAIRBANKS JAMES FARBER THOMAS FARM PAUL FARM PAUL FARM PAUL FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FELLOWS GARTH	CD SA SCA HCA OT HTM CL ME SER SA HCA E CR SER HTM	15537 10610 7661 6837 2466 16249 3322 490 14799 16192 8219 15857 3833 14842	94 48 48 45 15 93 21 3 93 48 95 24	141 130 159 151 164 174 158 163 1849 174 171 165
EVANS TED FAHRENBRUCH MARK FAHRENBRUCK MARK FAIRBANKS JAMES FARBER THOMAS FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FELLOWS GARTH FELLOWS GARTH	SA SCA HCA OT HTM CL ME SER SER HCA E CR SER HTH	10610 7661 6837 2466 16249 3322 490 14799 16192 8219 15857 3833 14842	55 48 45 15 73 21 3 8 73 48 75 24	130 159 151 164 174 158 163 1849 174 171 165
FAHRENBRUCH MARK FAHRENBRUCK MARK FAIRBANKS JAMES FARBER THOMAS FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FELLOWS GARTH FELLOWS GARTH	SCA HCA OT HTM CL ME SER SCA E CR SER HTM	7661 6837 2466 16249 3322 490 14799 16192 8219 15857 3833 14842	48 45 15 93 21 3 93 48 95 24	159 151 164 174 158 163 1849 174 171 165
FAHRENBRUCK MARK FAIRBANKS JAMES FARBER THOMAS FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEDER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	HCA OT HTM CL ME SER SA HCA E CR SER HTH	6837 2466 16249 3322 490 14799 16192 8219 15857 3833 14842	45 15 93 21 3 93 48 95 24	151 164 174 158 163 1849 174 171 165
FAIRBANKS JAMES FARBER THOMAS FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEDDERSON SCOTT FEBTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH	OT HTM CL ME SER SA HCA E CR SER HTM	2466 16249 3322 490 14799 16192 8219 15857 3833 14842	15 93 21 3 93 48 95 24	164 174 158 163 1849 174 171 165
FARBER THOMAS FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEDTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	HTM CL ME SER SA HCA E CR SER HTM	16249 3322 490 14799 16192 8219 15857 3833 14842	93 21 3 93 48 95 24	174 158 163 1849 174 171 165
FARM PAUL FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEGTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	CL ME SER SA HCA E CR SER HTH	3322 490 14799 16192 8219 15857 3833 14842	21 3 93 48 95 24	158 163 1849 174 171 165
FARM PAUL FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEGTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	ME SER SA HCA E CR SER HTH	490 14799 16192 8219 15857 3833 14842	3 9 73 48 95 24	163 1849 174 171 165
FECHT WILLIAM FEDDERSON SCOTT FEDDERSON SCOTT FEGTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	SER SA HCA E CR SER HTH	14799 16192 8219 15857 3833 14842	8 73 48 75 24	1849 174 171 165
FEDDERSON SCOTT FEDDERSON SCOTT FEDTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	SA HCA E CR SER HTH	16192 8219 15857 3833 14842	73 48 75 24	174 171 165
FEDDERSON SCOTT FEDDERSON SCOTT FEDTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	HCA E CR SER HTM	8219 15857 3833 14842	48 95 24	171 165
FEDDERSON SCOTT FEGTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	HCA E CR SER HTM	15857 3833 14842	95 24	165
FEGTER DEWAYNE FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	e Cr Ser HTM	15857 3833 14842	24	
FEHRINGER SCOTT FELLOWS GARTH FELLOWS GARTH	CR SER HTM	3833 14842	24	
FELLOWS GARTH FELLOWS GARTH	SER HTH	14842		159
FELLOWS GARTH	H71-1		T	159
			9E	155
		15459	93	155
FERGUSON IVAN	РТ	9491	72	131
FERTIG JERRY	PT	7535	48	156
FESTER GALE	FNF	10822	87	124
FIALA GARY	FT	10753	72	149
FIALA BARY	GD	6654	45	147
	NT	15704	ాల లైల్ల	1.68
FIDDELKE WESLEY	SER	13652		146
HISHER DARRYL	AB	13852	95 95	1.5.5
FISHER DEAN	HB V	3014	18	167
FISHER JERRY	-	15719	. 0 6	163
FISHER RICK	AÐ		. 70) I	139
FISHER VIRGIL	ų. Maria	418		
FIGHER VIRGIL	SNM	1756	12 93	146 151
F1T2GERALD JAMES	EB	14070	90 43	147
FORD RONALD	HE	9312		145
FURD TERRY	ROC	13118	90 90	
FGRD TERRY	V	13133	ዎርን	1-4-65
FORESTER SCOTT	FTH	565	3 	1121 138
FOSTER ROLAND	SB	12032	97 / 7	
FOWLER EDWARD	CR	7308	43 7	120
FOWLER RONALD	AB	509	3	169
FRAME RENNETH	F	10448	55	158
FRAZIER DAVID .	OT	9228	<u>40</u>	152
FREAR ROGER	ME	14790	90	154
FREDRICK JEFF	HI	16100	9 4	167
FREELING PHILLIP	TL	4095	enty national and the second sec	151
FREELING FHILLIP	SA SA	12658	81	156
FREESE DANIEL	F	13323	S1	154
FRENCH DAVID	IN	16266	9 és	169
FRERICHS DONALD	TI_	2668	72.1	127
FREY DOMALD	\vee	12752	72	177

13

-	**************************************	*********** LEAGUE	********** TOTAL PIN	**************** 5 TO TAL GAMES	
-	********			~ IU///_ U??/E23	
	FREY HARRY	IN	11054	/*************************************	
	FRICK JOHN	SER	507	3	/31
-	FRICK JOHN	HAB	16063		169
	FRICK JOHN	CL	15145	92	174 -
	FRICK, JOHN	TC	1087	87	174
-	FRIES DENNIS	CO	2999	5	181
	FRINKHOUSE BRADLEY	PT	422	21	142
	FRITSEN DALE	HCA	5438	3	140
	FRITSON DALE	SCA	6255	42	129
	FRITZ DOUGLAS	SB	907	45	139
	FROST THOMAS	E	452	-	151
	FROST THOMAS	ME	415	3	150
	FRUHLING LARRY	NE	12860	· 3	138
	FRUHLING LELAND	CÁ	13216	81	158
	FRY EDWARD	PT	9275	37	151
	FUESTEMAU MENNETH	SB	3519	13	147
	FULLER GEORGE	SA	17487	27	130
	FULLERTON ROY	EB	12556	۲ <u>۲</u>	182
	FULLERTON ROY	SNH		£7	144
	FULLERION ROY	ME	1771	12	147
	FULLERTON ROY	FNF	12698		135
	FULMER KENNETH	F PAR	1260		t (t 🗘
	FULMER RICK	r Se	2100		175
	FULTON ROBERT		447	÷.	149
	FURBAY LONNIE	SER	16454	2.3	17a
	GAETH DEAN	ROC	1949	13	1 J2 C4
	GAKE JAMIE	HE		72	
	GAHCOS JERRY	PT	9521	* 1	1.2回
	GARD RANDY	00	13540	. 2	145
	SARD RANDY	AB	13689	:3	182
-	CARD RANDY	THC	5986	1.22	153
	SARD RANDY	E E	16428	51	-192
-	GARD RUSTY	CL	17371	59 Se	180
	GARDNER BENNETT	HIB	1716	17	143
	CARDNER BENNETT	IN	1015	<u> </u>	109
	GARDNER RENNETT	¥.	14506	B (1)	172
	GARENER DENNIS	TC T	14778	av	1.5/7
	GARCHIER CENNIS	TL.		1 5	129
	GARDHER LYNN	IN	17224	9 6	177
		TC ·	520		(1) 第四
	GARGAN HICHAEL	BE	14905	97	1 (2017)
	GARGAN MICHAEL	SA	8 8 0	6	140
	GARRELIS ROBER	- CL	522		注意事
	GARRELTS ROBER	F	14179	84	168
	CARRELTS ROGER	レノト・	15131	37	123
	GARRISON DENNIS	ROC	4141	13 O	138
	BARY DALLAS	στ	15924	93	171 *
	GARY DALLAS	<i>V</i>	- 7139	χφ	193
	GARY DALLAS	SA	£773	19	1 7 3
	GARY HAROLD	Ų.	15651		1.7.3
	GARY HAROLD	NT	1556	ф.	i na seconda da seconda

R.

*****************			•		*******
······································				GAMES AVER	
GARY HAROLD	**********			**************************************	
GARY HAROLD				18 17	
GATES LARRY					
GATES LARRY	E		•		
GATES LARRY	•			76 15	
-				73 15	
GEBHARDS RICK				18 12	
GEILSER JAMES				31 11	
GEISER ROCKY				78 14	
GERDIS HUGO	•				8
GERING MARC				45 13	
GERLACH PAUL				3 11	
GEWECKE EARL				57 16	
GEWECKE EARL		-		37 17	
GIBBON GARY				5 15	<u> </u>
GIBBONS GARY				\$ 3 1.6	7
CIBEDNE GARY				93` is	
GIBBUNS GARY				90 17	
CIEBS KENNETH				18 15	
GIBBS RENNETH				34	
GIBBS RENNETH				12 14	
BIBBS MENNETH				27 15	
GIBSON DANIEL				5 15	
SIDDINGS LARRY				5 12	
DIEDINGS LARRY				55 14	
GIDDINGS LARRY				90 17	
CIFFIN MAURICE				19 14	
GINFIN ROBERT	•			ئ1 جر	
GIFFORD MICHAEL				PO 15	
GIFFORD HICHAEL				50 14	
GILLETTE CHRIS				12 L 4	
OILLETTE CHRIS				15	
UINFLE SHERMAN				13	
GIMPLE SHERMAN				.65 1.4	
GIRARD KEVIN				12 14	
GIRARD MEVIN				15 14	
GIRARD REMIN				19 <u>1</u> 4	
GLEASON JAMES				56 1.4	
GLEH STEVEN				.5 11	
GODDARD ARON	М			34 15	
GOEDERT JAMES				. 15	
GOEDEFT JAMES				ت 15 15	
COOSSEN LARUE	V			15	
GRAHAM GENE				20 15	
GRAHAH GLENN				11	
GRAHAM JAMES	M				Q .
DRAHAH JAMES	F			11 13	
GRANDGENETT RIC				15 15	
GRAPES JAMES	C			"8 1a	
DRAFES JAMES	C			15	
ERREEHEVER JAME	je r		591	50 11	Ż

**************************************	*****	**************	****	《我们有我们的的事件的。
NANC	LEAGUE T	DTAL PING TO	AL CAMEC	ANEDARE
**************************************	*********	(太太发现东京东京家家家小市东东市市		188778888888
HARMONEY GARY	NT	17076	76	177
	CIT	15900	90	176
HARRISON LESTER	SCA	3106	24	129
HARSHBARGER KERN	ROC	1898	12	158
HARTMAN NORMAN	IN	16050	96	167
HASBROUCH BERNARD	EB	12632	84	150
HASBROUCK DONALD	ME	13311	81	154
HASSELMANN GLENN	AB CR	9739	66	147
HASTY DUANE	· · · · · ·	11770	78	150
HASTY GILBERT	AB	12229		. 163
HASTY GILBERT	ME	12533	87	144
HASTY MARK	E	11621	78	148
HASTY RODNEY	C 0	898	6	149
HATCHER BRUCE	WM TMO	735	6	122
HATCHER BRUCE	TMC	2597	15	179
HATCHER BRUCE	E .	4463	24	185
HATCHER BRUCE	TL. GD	7744	42	194
HATCHER BRUCE	CIT	549	3	183
HATCHER BRUCE	DS	17085	93	183
HATCHER BRUCE	IN	12551	69	181
HATCHER DONALD	MI	16803	93	180
HATCHER DONALD	HIB	2064	15	137
HATCHER DONALD	IN	9953 8953	<u>60</u>	149
HATHOWAY DARYL	SCA	2152	15	143
HAYES WILLIAM	PT	4037	27	149
HEATER MICHAEL	CA	8519	65	131
HEATER MICHAEL	FTM	13223 13237	84	157
HEGGEMEYER STEVEN	FTM	304	84	157
HEGGEMEYER STEVEN	CA	9975	3	161
HEGGEMEYER STEVEN	OT	592	93 ,	107
HEGGEMEYER STEVEN	BE	11584	5	98
HEHNER JOSEPH	ME	4156	96	120
HELMICK LOWELL	MI	15427	20	138
HELMUTH MITCHELL	SB	1293	96	160
HENDERSON DONALD	v	1093	12	107
HEHDERSON STEVEN	THC	15579	9	121
HENDRICKSON JACK	NT	12137	96 97	152
HENNING HARVEY	F	13136	93	130
HENNING ROBERT	F	15019	81 .	152
HENRY RICK		483	96	166
HERMES BRIAN	SMM	12744	3	151
HERRERA CHRIS	WIA	14812	93	137 :
HERRICK ANDREW	FNF	5344	96	154
HERRON RAYMOND	SB	11086	39	144
HIBBERD DARRELL	MI	4460	72	153
HIBBERD DARRELL	NT	8344	27	172
HIBBERD DARRELL	CR	4554	48	173 -
HICKENS NORMAN	SB	4004	30	151
HICKEY CHARLES	AB	15477	93 94	1:14
and a second	r 1441	1. G 🖾 / 7	96	163

,

***	(本东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东东	建立海岸在立岸岩水市;	*******	******	*****
	HICKEY RALPH	SCA	6592	48	137
	HICKEY RALPH	HCA	3549	24	147
	HILL MICHAEL	58	11138	84	132
	HINRICHSEN JAY	why	14238	90	158
	HISEY JOHN	SNM	13820	93	148
	HITT MICHAEL	ROC	13596	96	141
	HITT MICHAEL	HIB	3111	9	123
	HOCKMAN GARY	CR	11888	87	136
	HODGE STEVEN	SA	6234	39	159
	HODGE STEVEN	TL	12460	78	157
	HODSON JOE	PT	4409	30	146
	HOFFMAN DOUGLAS	SER	13159	84	150
	HOFFMAN DOUGLAS	HIB	14808	93	157
	HOFFMAN DOUGLAS	FNF	1451	9	141
	HOHMAN CORY	MI	12057	84	147
	HOLLIDAY GEORGE	V	11350	87	132
	HOLTZ ELDON	CR	1742	12	1.5
	HOOS LARRY	IN	2077	15	138
	HOPKINS KIRK	GD	349	3	.15
	HORN MICHAEL	Ŷ	4877	36	135
-	HORNER JACK	SB	9052	75	120
	HOSE LERDY	AB	13345	93	143 ·
	HOWARD ROBERT	CO	15161	93	163
	HOWSEN FANDALL	HIB	8424	53	133
	HUBBARD GLENN	CO	2367	15	157
	HUBBARD GLENN	AB	7014	45	155
	HUBER ROBERT	PT	4768	39	127
	HUBER STU	CO	2078	15	138
	HUFFMAN RICHARD	BE	2019	12	168
	HUFFMAN RICHARD	AB	2811	18	156
	HUMPHREY MARK.	CIT	15562	93	167
	HUMPHREY ROBERT	IN	5525	36	153
	HUNT GENE	SA	5707	33	172
	HUSTON JAMES	TL	2293	18	127
	HUTCHINSON EDWARD	DS	31165	59	451
	HUTCHINSON EDWARD	TMC SNM	15486	96	161 168
	IBACH LEE	SER	1013 14912	6	165
	IBACH LEE	FNF	12578	90 75	167
	INGRAM DONALD	V	408	3	135
	INGRAM DONALD	ME	3180	21	151
	IDSTY GARY	E	15788	87	193
	IEWIN THOMAS	V	9757	60 60	162
	IRWIN THOMAS	ME	14800	95 95	154
	ISAAC TROY	58	12296	96	128
	ISAACS TIMOTHY	PT	4888	33	148
	ISAACS TIMOTHY	TL	11106	75	143
	ISACKSON SCOTT	PT	4312	36	119
	ISSAC MICHAEL	CA	14129	95 95	147
	JACOBITZ WALLACE	CO		·	

******	***********	*******	***7*********	***********
JACOBITZ WALLACE	BE	3242	21	154
JACOBSON MARK	IN	16039	93	172
JACOBSON MARK	· HIB	435	3	145
JAMESON ARVENNE	SNM	13785	87	160
JAMESON ARVENNE	ME	15079	93	162
JAMESON ARVENNE	AC	14905	90	165
JAMESON ARVENNE	EB	518	3	172
JAMESON ARVENNE	v	482	3	160
JAMESON DAVID	HCA	4661	39	119
JAMESON DAVID	SCA	6763	48	140
JAMROG DAVID	MI	15111	76 76	157
JAMROG DAVID	V N		81	157
		12759		
JAMROG LEONARD	141 M X	14847	. 96	154
JAMROG THOMAS	MI	454	3	151
JANSSEN DALE	SB	538	3	179
JANSSEN DALE	CA	459	3	153
JANSSEN DALE	BE	15522	90	172
JARMIN DONALD	ROC	15837	96	164
JARMIN DONALD .	SER	2975	18	155
JASNOCH DONALD	TMC	8963	84	105
JAUKEN MICHAEL	TL	14911	87	171
JENSEN CARL	CR CR	14582	81	180
JENSEN LARRY	ОТ	12827	81	158
JILEN HARK	SB	11033	84	131
JOHNSEN MERLE	F	15015	93	161
JOHNSEN MERLE	HAB	1492	9	155
JOHNSEN MERLE	ME	1411	9	156
ODHNSEN MICHAEL	F	13478	90	149
JOHNSON BILL	AF	374	3	124
JOHNSON BRIAN	SA	2867	24	119
JOHNSON DALE	E	1004	6	167
JOHNSON DALE	ME	7270	45	161
JOHNSON DALE	SB	3426	21	153
JOHNSON HERBERT	IN	488	3	162
JOHNSON JAMES	CL	17404	93	187
JOHNSON KIETH	AB	14235	67	167
JOHNSON RANDAL	SB	12405	96	129
JOHNSON RICHARD	IN	15120	78 90	158
	PT	6340	50	126
JOHNSON FICK				132
JOHNSON STEVEN	TC	11964	90 04	
JONES BERYL	SNM	12438	84	148
JONES BRUCE	CIT	3992	24	146
JONES CLIFFORD	SCA	1950	15	130
JONES CLIFFORD	HCA	4490	33	136
JONES JAMES	F	13575	9 0	150
JOHES JOHNNY	CĹ	10142	63	160
JOHES JOHNINY	TC	12254	81	151
JURGENSEN DWAYNE	F	15639	95	173
JORGENSEN PAUL	F	13764	90	152
JORGENSEN TERRY	TL	14522	50	161

!

*******				******
NAME			TOTAL GAMES	AVERAGE
**********				**************
JOURNEY RICHARD		16054	· •	167
JUEL LELAND	HIB	13101		140
JUEL LELAND	HTM	1254	9	139
JUREY OPIE	V	9772	75	130
JURGENS RYAN	SB	7066	54	130
KAHROFF THOMAS	TL	12954	84	154
KALEY GLEN	HIB	1093	9	121
KALTENBACH ROY	BE	12246	84	145
KALTENBACH ROY	ROC	13639	90	151
KALTENBACH ROY '	PT	819	6	136
KALTENBACH ROY	HTM	363	3	121
KANIUT CHRIS	ROC	3068	24	127
KANTARAS JAMES	SER	408	3	136
KANTARAS MICHAEL	SA	16553	95	174
KANTARAS MICHAEL	BE	15789	93	167
KANTARAS MICHAEL	SB	2558	15	170
KANTARAS MICHAEL	IN	2558	15	170
KANTARAS MICHAEL	SER	16223	93	174
EANTARAS MICHAEL	ROC	573	3	191
KANTARAS MICHAEL	ОТ	1862	12	155
KAY VERNON	FNF	2286	15	152
KAY VERNON	SIM	13016	97	179
KEELES DONALD	ROC	14380	90	159
MEEN JOH	HIB	445		148
KECLEY GARY	CIT	13853	83	167
KEITH CLARENCE	MI	15897	96	165
KELLER CHARLES	HCA	464	3	154
KELLER SAMUEL	NT	16392	95	170
KELLER SAMUEL	MI	15586	70	173
- KELLEY DONALD /JR		14919	93	150
KELLEY DONALD SR	SB	14384	96	149
KELLOGG WESLEY	FNF	1126	81	13
KELSO VAUGHN	PT	3593	30	119
KEMMING CHARLES	MI	543	6	90
KENNEDY JAMES	V	8230	56	124
KENNEDY LARRY	BE	11374	87	130
MENTON LARRY	TL	15693	37	180
KIKER MICHAEL	SB	14297		150
KILE RICK	SCA	404	3	134
KILE RICK	HCA	2017	15	134
KINDER KURT	GD	5930	ζ¢	152
KING GEORGE	v	13816	95	143
KING JEFF	FT	9916	50 59	143
KINNAN LANE	то	4067	30	135
KIRKLAND RUSSELL	SB	9037 8749	72	121
KISTER JEFF	SB	3448	21	164
KLIMEN DAVID D	SD TL	1553		172
WEIMER DAVID D	HTM	1003 17647	7 96	
KLIMEK DAVID D	Ci.	17430	76 96	192
KLIMEK DAVID L	с Т	17430 756		191
	h Lues	: 20	<u>4</u> ,	125

***************************************	388888888	****	*******	· ****
145-15-15-	LEAGUE	TOTAL PING	TOTAL CAMES	AL 15705 A 4942
	*******	*****	x x x x x x x x x x x x x x x x x x x	Frankenskaar 1921
		299	.3	95
KLINGELHOFFER DOUG KNISPEL CURTIS KNOEPFEL RONALD KNOX ORVIL KOCH MICHAEL	CO '	7462	60	124
KNISPEL CURTIS	E	13547	78	17
KNDEPFEL RONALD	TL	11719	81	1/4
KNOX ORVIL KOCH MICHAEL	E	13292	93	142 O
KOCH MICHAEL	SB	10035	78	128
KOEPKE DALE	SA	9579	60	159
KOHL MICHAEL	SA SB	939	6	156
KOST DONALD	TL ·	15316	93	154
KOTIL CURLY	ĊA	15584	93	167
KOWALSKI EDWARD	۳L	10032	72	137
KOWALSKI MARTIN	TL	10751	87	123
KRAUSE NICK	AC	958	· 6	
KREUGER ALBERT	RA	3390	24	159
KREUGER ALBERT	SB	10552	81	141
KREUGER MONTE	CO	11428		130
MREUTZER GREG	ΤĊ	1862	87	131
MREUTZER GREG	BE	11751	12	155
KREUTZER GREG	co	1494	75	156
· KREUTZER GUS	CR	13713	9	155
MERTICATION APPLICATION		2101	90	152
KRING HARLAN	E	14362	15	140
KEOGHAN MARK	CR E F HCA	12691	84	170
KROLIKOWSKI DAVID	HEA		87	145
KROLIKOWSKI DAVID KROLIKOWSKI DONALD KROTZ BUTCH	SCA	• 6719	48	139
KROLIKOWSKI DONALD	30M C0	6607	48	137
KROTZ BUTCH	- נ ט	14316	90	159
KRUEGER DALE	RA	13355	96	139
KRUEGER DALE	SB	13847	81	170
KUEBLER KEITH	AC	982	5	163
	CIT	5104	39	130
	SER	12621 8755	91	155
NURTENBACH JOHN	MI	1438	<u>5</u> 4	162
KWIATHONSKI DANIEL	SB	971	9	159
EWIATKOWSKI DANIEL	CO	3493	6	1e1 .
KWIATHOWSKI DANIEL	GD	3458	. 21	155
KWIATKOWSKI DANIEL	BE	14163	21	134
NWIGTROWSKI DANIEL	v	8188	87 54	ia2 ·
EWIATKOWSKI DAVID	GD	14940	96	151 .
KWIATKOWSKI DAVID	CR	6224	70 39	155
KWIATROWSKI DAVID	MR	6484		159
KWIATKOWSKI DAVID	V	1331	4 <u>1</u> 9	154
KWIATKOWSKI DAVID	BE	10807		147
KWIATKOWSKI DEL	E	751 3	75	144
KWIATKOWSKI DEL	v	7313 S188	<u> </u>	144
KWIATKOWSKI DEL	MI	2651	54	151
LABS DONALD	SIVM	2651 15289	18	147
LACEY DOUGLAS	GD	10511	96	150
LACEY MICHAEL	OT TO	11395	87	121
LACEY WILLIAM	CT	3890	87	130
	ω,	9070	53	141

12

****	***********				
	NAME (************************************		TOTAL PINS		
ቆቆጥኅ	LAHM STANLEY		12553	84	149
	LAHM STANLEY	MI	11399	75	151
-	LAKEY JAMES	v	4846	30	161
-	LAMMERS MELVIN	SNM	968	5	161
_	LANDENBERGER RANDY	SB	9676	97	111
-	LANGEMEIER TODD	FTM	351	3 96	117
		SB	12584	- 96	131
	LARSEN KENNETH	SB	1683	12	140
•	LAPSON DENNIS	- CO	10663	90	118
		TL	8730	69	129
	LARSON ROBERT	co	833	6	138
		CIT	12339	87	141
		PT	7935	54	146
		MI	14554	90 90	161
		HAB	14566	90	161
	LAWSON GAYLE	TL	520	3	173
	LAWSON GAYLE	CL	14670	<u>.</u> 84	174
	LAWSON GAYLE	FTM	14841	90 90	154
	LEA GARY	ROC	11719	93	126
	LEDGETTER RICK	AB	12511	84	148
	LEDROIT DONALD	NT	407	3	135
	LEE DONALD JR	CL	11176	59	151
	LEE DONALD SR	CD	4176	24	174_
	LEE DONALD SR	AB	12916	75	172
		AB	14498	84	172
	LEE RAY	OT	15335	9 <u>3</u>	164
		SCA	4205	30	140
		HCA	745	6	124
		GD	12103	93	130
		ROC	13661	93	145
-		SCA	6523	48	135
	LEWANDOWSKI MICHAEL	HCA	4609	36	128
	LEWANDOWSKI RANDY	PT	700	5	1'50
	LEWIS KENNETH	rc	10444	78	133
	LEWIS LARRY	AB	15349	90	170
	LEWIS LARRY	TC	15314	89	.72
	LEWIS PONALD	OT	7354	45	163
	LEWIS MALTER	HAB	473	3	157
	LEWISON TED	BE	14193	96	147
	LIENEMANN JAN	TMC	9159	63	145
	LIENEMANN JAN	HIB	478	3	159
	LIEWER STEVEN	SER	440	- 3	146
	LINDAU ORA	CL	14886	93	150
	LINE DENNIS	ME	12895	78	155
	LINNER CHUCK	SA	5168	33	156
	LITTLE GARY	TC	13657	90	151
	LITTLE GARY	TL	14191	90	157
.•	LIVERINGHOUSE JERRY	TC	13230	91	153
	LOCHEN KELLY	SB	2495	18	139
	LOEFFELHULZ DONALD	CL	14090	84	157
		les' les	a result 2 %."	W ⁻⁷	and that if

***	**********	******		****	*****
	NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE.
***	*****	CA CA	13004	87	149
	LOFFELHOLZ RALPH	CA .	814	· 6	135
• ·	LOFFELHOLZ TIMOTHY	AB	140	1	140
-	LONDER KENNETH	HCA	1223	9	135
	LONDER KENNETH	: TMC	12722	84	151
-	LONG KEITH	AB	14062	90	151
-	LONG KEITH			93	180
	LONGFELLOW STANLEY	CL. FNF	16749 13352	90 90	148
	LOOMIS GARY	CIT	2065	15	137
	LOOMIS GARY	SER	12038	84	143
	LOOMIS GARY	FNF	14460	84	172
	LOOMIS RICHARD	BE	2139	15	142
	LORANCE DENNIS	CT	14357	84	170
	LOWE FHOMAS	ĊT	1174	9	130
	LOWENSTEIN FRANK	SNM	15469	7 96	160
	LUDDEN JOHN (JACK)	ME	14357	78 90	120
	LUDDEN JOHN (JACK)	•	8661	57	151
	LUECK BILL	AB CO	14706	90	163
	LUECH WILLIAM	ROC	13219	75	176
	LUKAS JAMES		15672	7 J 93	168
	LUKAS JAHES	BE		57	137
	MADISON GARY	PT	8976 7075	48	146
	MADISON GARY	BE	7038	· +a 9	143
	MAESTAS EDWARD	BE	1019	36	130
	MAESTAS JOE	SB	-1591	81	130
	HARUSSEN PATRICK	SB	10632	93	149
	HANFULL DAVID		13939	73 96	143
	MANFULL JAMES	MI	13779	90	127
	MANFULL WILLIAM	RA	11440	93	175
	MANSFIELD CURTIS	SER	16349	6	175
-	MANSFIELD CURTIS	IN	1053 16138	93	173
	MANSFIELD CURTIS.	CIT AC	11096	ĠŎ 22	123
	MARKUS DAVID	CT	2259	18	125
- "	MARKUS DAVID MARKUS DAVID	SA		45	129
	MARLATT DAVID	EB	12773	96	133
	HARTIN BRADLEY	SĂ	14083	76	1-15
••	MARTIN ELLIS	ure Inte	7600	48	153
	MARTIN, ELLIS	AF	99 4 6	501	105
	MARTIN KEVIN	FT	4275		133
	MARTIN LARRY	CIT	6127	36	170
	MARTIN LARRY	IN	14313	84	170
	HARTIN T.A.	SA	11465	76	146
	MARUSKA BRET	AB	11224	90	124
	MARVIN STEPHEN	AB	12107	72	168
	MARVIN STEVEN	OT	7671	45	157
	MASHEK STEVEN	SA	454	3	151
	HASON GENE	EB	14860	93	159
•	MASON SKIP	SCA	452	3	150
	MASON SKIP	HCA	5539	42	131
	MASON STEVEN	PT	2845	24	113
	CONTRACTOR CONTRACTOR N) I		·	

:

***	*******	ç <u>ç</u> rrrrrr	*****	,
NAME	LEAGUE	TOTAL FINS	TOTAL GAMES	AVERAGE

MATHEIS KENNETH	SB	1768	15	117
MATHIESON RICHARD	OT	11634	93	125
MAUL DONALD	CIT	13024	90	144
MAUL EMMETT	CIT	13303	97	152
MAULER DOUGLAS	SER	16015	90	177
MAULER DOUGLAS	EB	16803	76 76	175
MAY DAN	AB	12630	84	150
MAY JAMES	RA	15470	93	166
MAY RICH	HIB	1410	12	117
MAY RICKY	TMC	725	6	120
MAYNARD DENNIS	AB	7775	57	136
MAYO CURTIS	SB	11144	90	123
MAYS LARRY	SER	17238		
MAYS LARRY	IN	934	93	185
MAYS LARRY	BE		6	155 .
MAYS STEVEN		16744	94:	174
MAYS STEVEN	E	2348	15	156
	HTM	14240	90 10	158
HAYS STEVEN MAYS STEVEN	RDC	10856	71	152
	BE	12826	34	152
HAYS STEVEN	CL	1946	12	162
HUBRIDE ROBERT	WM	13571	90	150
HECALL ALAN	HCA	6150	42	146
HCCALL ALLAN	SCA	7257	48	151
MCCALL BERNARD	SCA	5044	45	112
HCCANNON DALE	SER	5277	33	159
MCCAMMÓN DALE	NT	969	6	161
MCCAMMON DALE	CR	13453	84	160
HCCARTY KY	SB	11488	78	147
MCCLELAN KENT	PT	8102	63	128
MCCLELLEN MATHEW	- CA	14301	90	158
MCCOLLOUGH GREG	F	15031	93	161
MCCORMICK BRET	TL	9870	75	131
MCCRACKEN GARY	SB	3168	21	150
MCCRACKEN WILLIAM	SB	14971	96	155
HCCRIGHT CURTIS	IN	507	3.	155
MCCRISHT CURTIS	E	7006	51	175
MCCUE DOUGLAS	=	14240	Ģ .,	159 /
HCCULLY JAMES HCCULLY JIM	ROC	4041	24 70	168 (
•	BE	4931	30	154
MCDOWELL DAVID	ROC	16070	75	157 :
HEDOWELL DAVID	SER	13691	81	167
MCDOWELL JEFF	FTM	3464	57	148
HCDDWELL PAUL	WH CTU	14676	96	152
HCDOWELL PAUL	FTH	870	6	• 145
MCDOWELL PAUL	ROC	14840	9ċ	154
MCENTEE JERRY	TL	10296	91	125
HCLAUGHLIN RAYMOND	SB	16300	96	159
MCLAUGHLIN RAYMOND	SA	15248	87	175
MCLAUGHLIN RAYMOND	LB	6437	39	155
MCLAUGHLIN RAYMOND	AB	2547	15	169

		LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE
*****	**********	*****	********	****	************
MC	LAUGHLIN RAYMOND	CA	15982	96	166
. MC	LAUGHLIN RAYHOND	BE	1908	12	159
- MC	LAUGHLIN RAYMOND	TC	14958	90	166
110	PHERSON WILLIAM	SNM	742	6	123
. MC	ROBERTS DONALD	E	900	5	150
- 110	ROBERTS DONALD	F	13864	87	159
11E	AD LLOYD	AB	13936	87	160
ME	EADER CRAIG	PT	1694	12	141
ME	EDJO TERRY	NT	13685	78	175
ME	EDJO TERRY	SA	14778	84	175
не	EDO FRANK	SA	16163	96	168
ME	EIER JOSEPH	SB	5199	42	123
IAE	EIER STANLEY	FTM	718	ර	119
146	ELLOTT MICHAEL	PT	5114	36	142
iđE	ENDEZ MICHAEL	AC	5558	33	158
ME	ERRIMAN JAMES	V	11055	6 9	150
ME	ERRIMAN JAMES	στ	14359	93	154
Ine	ERRYMAN RICHARD	HTM	442	3	147
ME	RRYMAN RICHARD	ROC	10784	79	136
ME	ERTZ MICHAEL	SB	11198	90 **	124
ME	IYERS JOE	SA	16334	96	170
14E	EYERS ROBERT	AB	3207	24	133
19]	CHEL BRIAN	SA	407	3	135
MI	CHELS RONALD	CP	6096	39	156
MI	DDLETON DAVID	CO	11108	84	132
1-11	LAM DAVID	WM	6753	45	150
E I	LLER DOUGLAS	SB	4945	33	149
MI	LLER FORREST	SB	1259	9	138
i41	LLER GLENN	SB	2111	21	100
M	LLER JEFF	AB	13288	93	142
Ē.	LLER MARVIN	SB	14269	93	153
1-1 1	ILLER HAURICE	CIT	9108	72	125
. 141	ILLER STEVEN	FTM	12285	90	136
111	ILLNITZ STEVEN	CR	1529	9	165
111	ILLS LEE	AC	12159	81	180
M1	INERT REX	нI	955	చ	159
14]	TCHELL CLETIS	TL	13759	1 2 0	152
MI	TCHELL CLETIS	HAB	14900	96	
Ы	TCHELL ROBERT	HI	15917	89	1 78
[M]	TCHELL WILLIAM	EB	13839	9 5	L44
M I	THCELL JAMES	SB	13286	93	142
1-11	IZNER EARL	C 1	9101	.69	121
r11	IZNER EARL	SA	11526	61	142
MI	IZNER EDWARD	Ε	14072	9 <u>0</u>	156
i11	IZHER EDWIN	ME	14018	90	155
hic	DELLER JODY	OT	10954	84	Q.
110	DERER BRENT	V.	10209	60	170
MC	DES FRED	MI	14690	91	131
146	DES FRED	IN	17619	75	193
146	DES FREDRICK	CL	2190	12	182

***	***************	******	*****	*****	82222222222222222
		EAGUE	TOTAL PINS	TOTAL GAILES	AVERAGE
***	* 容容与存者以准成者容易存存者容容容容容容容容	*****	察察穿岸市边东南东南市东南市		*******
	HOLINA GILBERT	AB	1669	12	139
	MOLLARD BERNARD	MI	502	3	167
-	MOLLARD BERNARD	CR	10539	57	184
	MOLLARD BERNARD	CIT	11482	63	182
-	MOLLARD BERNARD	CA	1120	4	186
- ·	MOLDLEY STEVEN .	TL	2685	24	111
	MONIGER TIMOTHY	V	832	6	138
	HONTGOMERY RICHARD	SB	11287	81	139
	MODRE DANIEL	CR	10797	90	119
	HOREAU ROLAND	HAB	1455	9	162
	MOREAU ROLAND	CA	13383	96	139
	MORETT ERIC	FTM	6429	51	126
	MORGAN CHESTER	FNF	1893	12	157
	MORGAN PATRICK	SER	1046	5	174
	HORGAN PATRICK	HAB	1427	9	158
	HOFIARTY DAVID	ME	8426	48	175
	MORIARTY DAVID		540	3	180
	MORIARTY KEVIN	CIT	13873	87	159
	MORIARTY KEVIN	CD	14328	90	
	MOYER JEFF	PT	5256		159
			•	39	134
	MUCHMORE KENNETH	F	14973	95	157
	HULLER SCOTT	SCA	6196	45	137
	HULLER WILLIAM	FTM	3657	20	121
	HUNSON THOMAS	P'T	1257	9	139
	HURPHY JAMES	HIB	10819	84	128
	MURPHY JOHN	AB	439	3	146
	MURPHY JOSEPH	E	15684	93	168
	MURFHY JOSEPH	CIT	14797	90	154
	MURPHY MICHAEL	CIT	4380	36	121
-	HUPPHY PATRICK	SA	12070	69	174
•	HURRISH ROLAN	. MI	14366	93	154
•	MUERISH ROLAN	CA	14429	93	155
-	MUSIL RICK	CR	11470	84	133
	MUTH MARVIN	SINM	12587	96	131
	HYERS CHARLES DAN	CL	9095	51	178
	MYERS CHARLES DAN	V	12610	72	175
	HYERS CLIFFORD	FTM	4468	30	149
	HYERS CLIFFORD	AB	10114	66	153
	MYERE EDWARD	AB	11366	72	157
	MYERS EDWARD	FTM	13609	87	156
	HYERS EVERETT	HTM	12655	93	136
	NEAL ARVARD	CIT	. 17106	93	183
	NELSON BUDDY	CR	15369	96	130
	NELSON BUDDY	V	15897	95	165
	NELSON DALE	TMC	11170	72	155
•	NELSON DALE	DS	9057	57	158
	NELSON EARL	MI	15704	95	163
	NELSON RANDY	V	495	3	155
	NELSON ROBERT	TC ·	13580	87	156
	NELSON WILLIAM	AB	10698	75	142
	ar nagan agan bartarti T. T. T. ak, Ben Daka da ∂. J. I	7 Y Gay'			

.

. .

	LENGUE	TATA RING	**************************************	AUCDACC
	(农家安大家家家家家家家家	************	********	*****
	KA .	15334	96	170
NESIBA RICHARD	TL	1930	12	140
NEWMAN DANIEL	- CR	14937	93	150
NEWMAN HAROLD	, CA	11762	87	135
NEWMAN MICHAEL	Έ	15340	93	164
NEWMAN MICHAEL	ME	13620	87	156
NICHOLS DONALD	CL	6001	39	122
NICHOLS RICK	BE	. 4984	36	138
NICKEL DANIEL	HIB	\$435	54	
NICKEL DANIEL	SCA	4073	30	157
NICKEL DANIEL	TMC	11\75		155
NICKEL DIRK	TL	11179	72	155
NICKEL JERRY		501	78	143
NICKEL MACK			3	167
NICKEL RONALD	TL	11923	78	152
NICKEL THOMAS	ι. Έ	8832	54	163
NICKEL TIMOTHY		13215	90	146
NICKEL TIMOTHY	TMC	8896	57 🧠	156
NICOLARSEN CARL	HCA	518	3	172
NIELSEN BRUCE	ME	11095	75	147
NIELSEN DELBERT	TC	11452	84	. 136
	ME	14984	. 75	155
HIELSEN RONALD	CA	5241	48	109
NIENHUESER JEFF	GD	977	Ş	108
NIFEILA JOHN	AB	16141	96	153
HOETZELMAN DAVID	SB	14565	96	152
NOLLER PATRICK	GD	11126	87	127
NOLLER WAYNE	GD	10725	83	129
NOLLER WILLIAM	CR	2035	15	135
NOLLEF WILLIAM	GD	11695	87	134
NOVENTE LARRY	ME	284 0	21	135
NUSS JERRY	SA	12910	87	148
NUTTELMAN CLARK	V V	337	3	112
NUTTELMAN CLARK	TC	2297	18	127
NUTTELHAN CLARK	IN	787	6	131
NUTTELMAN GERALD	V	7521	51	147
NUTZMAN MICHAEL	BE	11128	75	148
NYE LAURENCE	ROC	6654	45	148
O'BRÍEN DENNIS	THE OT	14912	95	156
O'DRISCOLL STEVEN	IN	4546	70 36	126
O'MARA SHAYNE	SER	587		97
O'NEILL DENNIS	TC	12095	. చ 75	
D'NEILL DENNIS	AB		78	155
O'NEILL THOMAS	v V	11631	75	155
DAKLUND ROCKLYN		48 10	42	142
OCHSNER THOMAS	CR	14000	87	130
OERTWIG DANIEL	ROC	12935	90	143 -
	CIT	11292	78	144
OLIVER GEORGE	11E	5818	42	138
OLIVER GEORGE	HIB	12668	31	156
OLIVER GREG	HCA	5 020	39	128
OLIVER GREG	SCA	6354	39	162

Ċ

		_EAGUE TO	DTAL PINS TOT	AL FAMES A	VERAGE
***	***************************************	家南容书家给尔尔 名字》	************	********	******
-	OLSON DANIEL	TL	7827	24	144
	OLSON DARCY	SB	12213	63	131
	ONATE ERIC	PT	3608	27	133
-	DNATE SONNY	AB	12398	84	147
	OPPLIGER RONALD	HAB	15752	9ú	175
-	OPPLIGER RONALD	F	1611	9	179
-	ORR LEROY	v.	12740	, 78	163
	OSSENKOP LARRY	ĊIT	10834	78	138
	OSTRON WAYNE	AB	11048	75	147
	OTTO JOHN	OT	394	-3	131
	OURADA JAMES	SB	6139	45	136
	OURADA MICHAEL	SB	1784	12	148
	OVERGARD TERRY	SB	7945	48	145
	OVERHOLT JAMES	MR /	6943	48	
ļ	DZENBERGER JAMES	ME	2644	40 95	144
	OZENBERGER JAMES	F Í	10979	75 75	27
	PAGEL PAUL	MR	6311	75 48	146
	PAGEL PAUL	AF	8036		131
	PALU MARK	CO	16390	60 87	133
	PALU HARK	HIB		9 6	170
	PANTER STEVEN	SB	692 17105	3	230
	PARKER DUSTIN	TL	13105	84	153
	PARKS EARL	AB	718	6 3	119
	PARKS EARL		482		150
	PARKS LARRY	CO	3489	21	166
		RA	8602	72	119
	PARKS RANDALL	RA	1719	12	143
	PARKS RANDY	NT	805	ప	134
	PARZYCH STANLEY	V	12326	72	471
	PAUL WILLIAM	MI	11794	96	122
	PEARSON JEFF	SB	5258	45	139
-	PEDERSEN LENARD JR	WM	14147	76	147
	PEDERSON LENARD SR	WM	15128	73	152
	PEEKS LOWELL	CF:	15979	07	171
-	PSEKS LOWELL	5A	15901	75	145
	PETERS RICHARD	ME	13750	95	143
	PETERSON CLIFFORD	CR	15269	93	164
	PETERSEN CHARLES PETERSEN EMIL	CR	13928	-94	165
		CL	12162	72	158
	PETERSEN EHIL	ROC	3090	18	171
	PETERSEN JAMES	CIT	12501	81	154
	PETERSEN JAY	IN	12245	84	145
	PETERSEN JOHN	CR	8128	54	150
	PETERSON ARNOLD	AB	11256	75	150
	PETERSON DONALD	SB	8512	60 	141
	PETERSON JEFF	SB	9828	81	1:21
	PETERSON KEVIN	FT	5254	32	154
	PETERSON LARRY	CT	14918	84	176
	PETERSON LARRY	ME	3156	19	175
	PETERSON LARRY	E	432	••••••••••••••••••••••••••••••••••••••	1 4 4
	PETERSON REX	SNM	11549	75	148

Y

Ŷ

**************************************	****** LEAGUE	**************************************	**************************************	x * * * * * * * * * * * * * * * * * * *

PETERSON THOMAS	PT	2102	15	140
PETTIT DARREL	SER	15650	93	168
PETTIT DARRELL	TC	764	5	160
· PFEIFER PATRICK	PT	10551	- 69	152
FFEIFFER LARRY	v	6067	42	144
PFEIFFER MITCHELL	TL	10391	78	133
PHILLIPS ERCIL	F	11379	75	151
PHILLIPS MICK	F	15754	73 93	169
PHILLIPS MICKEY	MI	16187	96	158
PHILLIPS R	MI	1302	· 79	144
PHILLIPS SCOTT	F	11585		
PHILLIPS TERRY	F		. 78	148
PHILLIPS WILLIAM	F	11359	93	122
		12370	72	171
PIASECKI ROGER	AB	14269	84	169
PIASECKI ROGER	CL	13553	81	167
PIASECKI ROGER	BE.	962	6	160
PIERCE BRUCE	F	3435	24	143
FIERCE BRUCE	RA	1,2086	81	149
PIERCE GEORGE	RA	13971	'90	155
PIESCHKE SHAWN	PT	8874	<u>53</u>	140
PLACZEK ROBERT	FNF	11208	69	152
PLACZEK ROBERT	TMC	15101	94	. 150
PLACZEK ROBERT	DS	12205	75	162
PLAMBECK RONALD	TC	44 <u>0</u>	3	146
PLAUTZ GALE	or	7483	51	146
POHL RONALD	СТ	13702	84	163
PEMPLIN PANDY	SB	1766	12	147
PORTER SCOTT	SB	942	٤ .	157
FORTER TIMOTHY	PT	8702	63	138
POTTER RONALD	SB	12107	34	1.14
- POTTHOFF LARRY	PT	6603	47	140
PRASCHER RICHARD	CIT	3803	24	158
PRATT DAVID	F	14607	93	157
PRESTON WADE	SB	1213	φ ⁻	134
PULVER EFVIN	SNM	943	Ġ	157
RADCLIFF JAMES	HIB	10178	59	147
RADCLIFF JAHES	FNF	414	3	136
BADEMACHER EARL	CR	11848	72	164
RAGAINS MICHAEL	WM	12337	93	132
SAHE PAUL	EÐ	13630	93	146
RAHE PAUL	SA	14485	93	155
RAINS RICHARD	F	15913	93	171
RALL JACK	F RA	11912	93 84	140
RALSTON MICHAEL	TL		24 24	
		3146		131
RAMMAGE ROY	ME	1291	9	143
RAMSAY GEORGE	SA	14518	93	135
RAMSEY DANIEL	RA	1193	ς 	132
RANDOLPH JOHN	SER	2642	18	140
RANDOLPH LANNY	C1	13482	81	2 సత
FANDOLPH LANNY	SA	15991	96	165
•				

· * * * * * * * * * * * * * * * * * * *			AL GAMES A	VERAGE
RASH JERRY	1N	15640		
RASH JERRY	CIT	16294	87	179
RASH JERRY	E		93	175
FASH JERRY	E CL	6055	34	178
	WM	2377	12	198
	TMC	17142	96	178
RASH LARRY		1074	6	179
RASH LARRY	SA	15716	96	163
RASMUSSEN DONALD	ÎN	462	3	154
RASHUSSEN HONTE	CT TL	12973	81	160
RASMUSSEN VICTOR		12890	84	153
	SB	4101	30	136
RATH HUGH	HTM	2913	21	138
RATH HUGH	MI	841	5	140
RATH RONALD	BE	6078	42	144
RATH RONALD	MI	12324	84	146
RAYMOND ROGER	IN	11493	81	141
REDDING GREG		3358	24	139
REED CONRAD	AB 58	10990	59	159
REEDER GARY		2515	18	139
REEDS STEVEN	ROC	829 1 77 0 0	5	138
REESE DALE	E	12700 3799	93	135
REEVES DONALD	SB	13945	24 90	158
REGENOS MARC	PT	747	90 6	154
REIDY GREG	TC	9213	а 51	124
REID/ GREG	IN	18215	-51 -95	180
REIDY GREG	BE	9688	75 51	189 1 89
REIDY GREG	CL	18748	-96 	195
REIDY THOMAS		504	3	168
REINERTSON PAUL	ROC	7635	45	168
REITER BRUCE	BE	13883	81	171
REITER BRUCE	CO ·	13051	78	157
REMMENGA RICHARD	<u>co</u>	13349	90	148
REMTER DARYL	FMF	13998	34	165
REHTER DARYL	F	15139	90	168
RHOADES FAUL	FTM	7209	42	171
RHOADES PAUL	BE	2532	15	159
RHUADES PAUL	AB	16597	96	173
RHDADES PAUL	Ε	2660	15	177
PHOADES PAUL	тс	15754	90	477.
RHOADES PAUL	ROC	522	3	174
RICH PAUL	wil-1	5917	36	150
RICH RICHARD	CO	13654	96	173
RICHARDS DONALD	PT	451	2	150
RICHARDS DONALD	HTM	431	3	150
EICHARDS JOHN	CR	13407	84	159
RICHARDS ROBERT	SA	14204	90	157
RICHARDS ROGER	ыт	445	5	74
RICHARDSON CARL	SB	11834	87	136
RICHTER ALBERT	AB	8467	57	148

: :

	**************************************	LEAGUE	TOTAL PINS	TOTAL GAMES	AUEPAGE
**	*****	*****	******	······································	→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→→
	RICHTER ALBERT	CO	10790		
		IN	14524	92	156
-	RICKERT TERRY	SB		93	149
- 6	RILEY KEVIN	AF	346	3	147
	RILEY TIMOTHY		12044	90	133
	FIFP KENNETH	AC E	7323	60	155
•	RITTER CARREL	F	14475	84	155
	RITTER CARRELL	ROC	16436	96	172
	RITTER CURTIS	F	13658	93	146
	RITTER CURTIS	BE	3651	24	152
	RITTER CURTIS	ROC	4492	30	149
	RITTERBUSH KENNETH	F	12436	90	138
	RIVERA RAMON	SER	10547	78	135
	ROBERTS LARRY	HCA	7561	48	157
	ROBERTS LARRY	SCA	7868	48	163
	ROBERTS RONALD	CO	12776	78	163
		AB	431	3	143
		AB	423	3	142
		CO	12276	78	157
	ROPINSON BILL	TC	12574	77	163
	ROBINSON BRENT	TC	463	d	115
	ROBINSON DALE	CT	11537	72	161
	ROBINSON DALE	CP	14178	87	181
	ROBINSON KENNETH	TC	14583	90	162
	ROBINSON MICHAEL	TC	12449	84	148
	ROBSON JACK	CIT	15549	93	148
	ROCKEFELLER STEVEN	CIT Wm	11782	93 93	126
	RODEHORST LEE	ME	9250	51	181
	RUDEHORST LEE	IN	17088	96	178
	RODEHORST LEE	MI	16443	90	182
	RODEHORST LEON	ME	13269	81	162
	RODEHORST LEON	NT	13464	84	150
	RODEHORST LEON	141	13545	84	130
	RODEHORST LEON	FNF	2333	15	155
	RODGERS RONALD	F	12672	81	156
	EODINE BRIAN	TMC	5152	33	156
	RODINE BRIAN	HIB	8446	57	148
	ROEDER HERWIN	МТ	13712	84	163
	ROEDER MERWIN	14 î	14507	87	165
	ROEDER MERWIN	CR	13723	84	153
	ROJAS GREG	PT	6675	42	158
	ROL MICHAEL	SER	11743	75	156
	ROOT WILLIAM JR	HTM	1198	9	133
	ROOT WILLIAM SR	BE	1724	12	143
	ROOT WILLIAM SR	ROC	1896	12	159
	ROOT WILLIAM SR	CL	12338	73	158
	ROOT WILLIAM SR	нтн	14274	70 70	153
	ROSENTHAL DAVID	BE	8586	57	150
	ROSS DANNY	Ε	3222	18	170
	ROSTVIT LOWELL	Ē	5417	- 33	164
			· • • • • • ·		1 (C) -+

***	**************************************		**************************************	**************** Total games	278888888888888888 AVERAGE
***	*****				
	ROTH KENNETH	SB	7631	51	150
_	RUCKER GARY	SA	7715	48	160
-	RUDER CELESTINE	E	12190	93	131
-	RUDER RONALD	BE	15391	87	176
	RUDER RONALD	SA	16216	93	174
-	RUFF STEVEN	CL	2404	15	160
	RUFF STEVEN	CR	14:3	27	52
	RUFF STEVEN (LEFT)	V .	1809		
	RUFF STEVEN (RIGHT)	v .	11467	13 69	124
	RUMMEL CRAIG	PT	6963		166
:	RUNGE GARY	SER	14982	48	145
	RUPP FRED	RA		93	161
	RUSSELL RODNEY		15327	. 93	164
	RUSSELL RONALD	SNM	249	3	83
	RUSSELL KUNALD RYAN JOHN	RA	446	3	148
		E	11402	87	131
	SAJEVIC FRANK	CL	16125	90	179
	SAKARADA RONALD	CIT	13159	93	141
	SALSBURY BRUCE	SB	1423	9	158 c
	SALTER THOMAS	TMC	1074	6	179
	SAMP DALLAS	SER	13156	82	151
	SANP DALLAS	F	6471	4(2	154
	SANDERS KENNETH	IN	4029	2.1	- 191 -
	SANDERS KENNETH	, CL	17782	°-5	185
	SANDERS KENNETH	V	13904 .	75	185
	SANDIVAR RENE	BE	4069	2 .	140
	SAYER LARRY	FTH	13479	95	140
	SCHAFER MARK	PT	5568	45	123
	SCHANOU CORT	ME	17041	96	177
	SCHANOU ROBERT	OT	14537	93	156
	SCHENK DALE	SB	13494	50	149
-	SCHINKEL PAUL	HCA	5724	4.2	136
	SCHINKEL PAUL	SCA	6995	48	145
-	SCHLATTMANN KENNETH	DS	13550	75	180
	SCHLATTMANN KENNETH	AB	8867		154
	SCHLATTMANN KENNETH	CL.	16140	92	175
	SCHLATTMANN KENNETH	E	16344	91	179
	SCHLATTMANN KENNETH	HIB	10946	60	182
	SCHLATTHANN KENNETH	TMC	15760	96	174
	SCHLEDEWITZ WILLIAM	TL	7778	59	144
	SCHLEETER JAMES	EB	13778	90	153
	SCHLEETER JAMES	F	14256	90	158
	SCHLIENTZ KENT	SB	5578	45	124
	SCHHIDT BOYD	MR	7241	48 .	150
	SCHMIDT BOYD	AF	9008	- 40 . 60	150
	SCHMIDT FICHARD	TC	14178	87	162
	SCHMIDT ROBERT	CA	436	2	145
	SCHNACKER ARLAND	HTM	517	ు చ	102
	SCHNASE RANDY	NT	13203	87	
	SCHOENECK JEFF	CIT			151
	SCHOENHALS MYRON		13499	84	160
		BE	4094	33	124

* * *	********			*******	*******
					VERAGE
***	****				
	SCHRODER EARL	TL	2119	12	176
•	SCHRODER EARL	NT	13424	81	165
- .	SCHRODER STAN	TL	13022	81	150
	SCHROEDER BENJAMIN	SB	7848	69	142
	SCHROEDER GLEN	RA	973	6	162
-	SCHROEDER GLEN	SER	4979	30	165
		HTM	1244	9	138
	SCHROEDER JOHN	HIB	12969	90	144
	SCHROEDER MICHAEL	TC	1566	12	130
		FTM	8415	51	165
	SCHROEDER TERRY	TC	13301	84	158
	SCHROEDER TERRY	TL		- 45	149
	SCHROER MELVIN	IN	3722	24	135
		IN	14410	93	154
	SCHROER RAY	SB	16282	93	175
	SCHROER ROBERT	E	11680	81	144
	SCHUBERT ROGER	CO	15024	93	151
	SCHUG STEVEN	CR	11577	75	154
	SCHUKAR BENJAMIN	V T	5212		121
	SCHUKAR RODNEY	TL	12137	87	139
	SCHUTT JOE	CR	6953	45	154
	SCHWART2 SCOTT	ROC	2946	21	140
	SEARS PAUL	NT	15674	9 6	163
	SEARS PAUL	SNH	1574	9	174
	SEILER HILLIAM	HE	15121	96	157
	SELL GREGG	SB	7544	51	147
	SELLS WOODEROW	ME	6727	42	160
	SENIOR RONALD	FTM	13980	37	160
	SHADA TIMOTHY Shafer Lyle	SER	8569	71	122
-		FNF	14501	84	173
	SHAFER WILLIAM SHAFTO LARRY	CL	15172	87	174 '
	SHAFTO ROBERT	HTM F	12644	90	140
-	SHAEP DOUGLAS		950	6	158
	SHAVER MELVIN	AF . E	2434 11826	15 87	162
	SHAW GARY	ROC	2040	12	135 170
	SHAW GARY	V	14175	90	157
	SHAW JAMES	AC	13524	84	161
	SHAW JAMES	BE	12732	78	163
	EMAN JANES	HTM	11117	4 <u>9</u>	161
	SHAN JAMES	ROC	3769	24 .	157
	SHEARER WILLIAM	GD	12025	96 ·	125
	SHELDON ALVIN	BE	12745	75	169
	SHELDON JERROW	AB		67	
	SHELDON JERROW	20 20	10902 2379	15	158 153
	SHELDON JERRY	BE	•	10 9	
	SHIERS JOHN	SER	1552 9726	9 81	$\frac{172}{120}$
		CT	1014	5 5	155
	SHOUP GARY	BE	14825	8 90	
	SHULTZ DENNIS	AB	488	3	164 162
	CHULIX DEPHIZO	171 2 7	400	<u>ت</u>	1. C. 1

33

.

:	***********************************			· · · ·	**************************************
***	********				
	SHULTZ DENNIS	SA	15008	87	172
	SHULTZ RONALD	SA	12783	72	177
a • .	SHULTZ THOMAS	SA	11420	81	140
	SILLMAN STEVEN	TL.	5814	42	138
-	SILVERS DUANE	MR	7078	48	
-	SILVERS DUANE	AF	8908		147
	SIMMONS MICHAEL			60	148
	SIMPKINS EUGENE	BE	11914	84	148
	SIMPKINS TIMOTHY	CR	10609	56	160
	•	CR	13477	96	140
	SINFSON DALE	OT	3860	24	160
	SIMPSON DALE	TL	1272	9	141
	SIMPSON DALE	ME	853	6	142
	SIMPSON DALE	RA	2249	. 15	149
	SIMPSON DALE	CIT	12514	84	150
	SIMPSON DANIEL	SB	346	3	115
	SIMPSON FLOYD	ME	14846	96	154
	SINSEL ROBERT	IN	5527	36	153
	SIPHA J. BRIAN	CIT	13100	90	145
		BE	6551	48	136
	SLACK LARRY	EB	15727	93	169
	SLACK MICHAEL	EB	13729	93	147
	•	. MI	13604	90	151
	SLADE RONALD	ROC	10764	87	123
	SLAGLE WILLIAM	OT	13578	93	147
	SLATER JOEL	THC	3700	24	154
	ELAUGHTER ROGER	SB	4151	33	125
	SHALL DENNIS	ME	10557	75 .	140
	SMALL DENNIS	FNF	541	6	140
	SHALLCOMB CHUCK	HIB	2530	15	168
-	SMALLCOMB CHUCK	SER	2401	15	160
	SMALLCOMB CHUCK	IN	15460	96	151
	SMALLCOMB CHUCK	TL	14550		156
-	SMALLCOMB CHUCK	the	4602	28	154
	SHALLCOHB CHUCK	MI	483	3	151
	SMALLCOMB CHUCK	ME	1473	5	163
	SMALLCOMB CHUCK	DS	3007	18	167
	SHALLCOMB CHUCK	E	16227	95	169
	SMALLCOMB CHUCK	HAB	457	3	153
	SHALLCOMB KENT	THC	2693	15	129
	SMALLCOMB KENT	IN	17386	93	185
	SHALLCOMB KENT,	E	17134	93	184 .
	SMALLCOMB KENT	CL	2319	12	173
	SMALLCOMB KENT	DS	14039	75	187
	SMALLCOMB MARK	SEP	11673	84	138 .
	SMALLCOMB MARK	TL	3374	24	140
	SMITH DANIEL	SB	13249	93	142
	SMITH EUGENE	AB	16150	96	198
	SMITH IVAN	NT	14359	90	159
	SHITH IVAN	SNH	12137	78 *	135
	SMITH JAMES	1-1 I	15144	96	157

د. تم مر

,

	***************************************				***********	, ì,
-	NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE	

	SMITH JAMES	BE	14416	90	160	
4	SMITH JAMES	GD	14927	96	155	
•	SMITH JEFF	SA	5469	36	151	
	SMITH JEFF	SB	13227	96	137	
	SMITH JOHNNY	AB	9235	63	146	
	SMITH KELLY	V	13531	87	155	
	SMITH ROBERT	SB	6675	51	130	
	SMUSKIEWICZ DAVID	GD	848	6	141	
	SMUSKIEWICZ DAVID	CR	15228	93	192	
	SNELL CHADWICK	CL	2089	12	174	
	SNELL CHADWICK	BE	2099	12	174	
	SNELL CHADWICK	. CA	16242	93	174	
	SNELL DAVID	SB	11794	93	126	`
	SNELL DAVID	CA	324	. 3	108	
	SNELL DAVID	CL	411	3	137	
	SNELL GLYNN	CA	16298	96	159	
	SNELL GLYNN	AB	3516	21	167	
	SHELL GLYNN	SB	444	3	- 148	
	BNELL GLYNN	CL	16736	96	174	
	SWIDER RODNEY	GD	3639	27	134	
	SMODGRASS ANDREW	CA	14257	93	153	
	SNYDER DALLAS	AC	10590	94	126	
	SNYDER ERIC	SB	3234	27	119	
	SODERHOLM KENNETH	BE	7386	18	153	
	BODERHOLM RAYHOND	BE	14021	97	100	
	SODERHOLM RICHARD	BE	13985	94	165	
	SUDERHOLM THOMAS	ΒĒ	16119	93	173	
	SODERHOLH WILLIAM	BE	15114	87 .	173	
	SODERQUIST RANDALL	SER	6043	39	154	
•	SOMERHALDER GEORGE	v v	14228	87	163	
	SPAULAK RANDY	PT	11243	72	155	
	SPECK DAVID	ROC	1093	5	182	
•	SFEICHER DALE	SB	12495	93	134	
	SPEISE JAMES	FNF	12415	84	147	
	SPENCER JAMES	AB	1901	12	158	
	SPENSER JAMES	SÉR	13016	34	154	
	SPRACKLEN MARVIN	CR	12924	78	155	
	SPRACKLEN MARVIN	FTM	1892	12	157	
	SPRACKLEN VERLE	ÉTIA	11780	87	135	
	SPFINGER DONALD	TC	14104	90	155	
	SPRINGER DONALD	SER	14404	90	160	
	SPRINGER WENDELL	SB	14988	- 90	146	
	SPRINGER WENDELL	RA	16449	95	171	
	SFULAR RANDY	GD	447	3	149	
	STAAB LONNIE	SER	14872	90	145	
	STAAB LONNIE	HIB	464	70 2	154	
	STARE ROGER	SB	2596	19	144	
	STAAB STEVEN	BE	2127	15	177	
	STAAB STEVEN	SER	14632	84	174	
	STAAB STEVEN	ROC	6383	39 39	129	
	19 فيرية 17 يسل 1 المكان "مشالة العلي	المعادية المحا	13 12 12 12	۵. ۳	120	

•

***	*****	******	****	****	*****
	NAME	EAGUE TO	JTAL PINS	TOTAL GAMES	AVERAGE
****	**************************************	*****	*******	*****	************
•	STAAB STEVEN STADLER SCOTT	NT	2649	15	176
	STADLER SCOTT	CO	13873	13 93 45 3 21 33	149
÷	STAFFORD KEITH	CIT	7348	45	163
•	STALEY SANDY STAMP WILLIAM	MI	366	3	163 122
•	GTAMP WITH TAM	PT	2626	21	125
	STARK DALE	ROC	4723	33	143
<i>.</i>	STAUFFER ROBIN	V	10371	56	157
	STEFKA CHARLES	MI	12776	87	146
	STARK DALE STAUFFER ROBIN STEFKA CHARLES STEFKA DWAIN STEPHENSON JAMES	CA	13366	93	143
	STEPHENSON JAMES	OT		81	
	STEPHENSON ROBERT	TO	475	81 . 3	145
			326	. U	108
		BE	326 13193	84	157
		· [~]	14151	90	157
		΄ CL Ε	4 "Y " A "		158
	STICKNEV POPERT	<u>ь</u> рт	13309	07	
	STICKNEY ROBERT STOETZEL MARK	60	14609	87 81 96 72 9 96 87 3 39 81	164 152
	STONE CHARLES	35 TC	7544	70	132
	STORE CHARLES STONE CHARLES STONE DONALD STONES IVAN STONES RANDALL		1254	· · 4	132
	STONE DOMALD	SER SE	13629	7	
	STUNE DUMHLD	35	10027	70	141
	STUNES IVAN	38	14332	8/	164
	CTOUED CMONEY	3A TO	388	ు ాది	129
	STOVER SMOKEY	тс	5008	-5 7	154
	STRASIL ALVIN STRATTMAN RANDY STRATTON MARTIN			U 1	167
	STEATINAN RANDY	RUC	9403	67	136
	STRATION MARIIN	58		93	142
		MI	14329		149
-		AB	10300		149
	STROUP RICHARD	CO	14477	96	150
	STRUCK GARY		12655	93 68	136
۰.		PT	9597	68	141
	STRYKER KENNETH	BE	1474	9	163
		SA			181
	STRYKER KENNETH	IN	17700	93	19ŭ
	STRYKER KENNETH	MI	1732	9	192
	STUART RONALD	BE	677	6	112
	STUBBS CRAY	SB	14257	84	165
	STUBBS STEVEN	IH	1031 6	84	122
	STUMP DAVID	ROC	10559	81	130
,	STUMPFF DONALD	F	13886	- -	149
	SUND JON	MR	733	6	122
	SUNSHINE ALAN	AB	12214	93	131
	SUTHERLAND QUINTON	SB	9379	50	15ċ
	SVOBODA KENNETH	SER	352	3	117
	SWANSON JAMES	LB	2517	18	145
	SWANSON JAMES	SA	15794	93	12.7
	SWANSON JAMES	BE	3104	18	172
	SWANSON WALLACE	TL	11065	84	131
	SWANSON WALLACE	TC	920	6	. 153
	SWENSON RALPH	WM	14343	93	154
			· · ·		

k.

2 . 2 .

k

*	*****	******	****	(岑太宋宋宋宋宋宋宋宋帝帝帝)	*************
-	NAME	LEAGUE	TOTAL PINS	TOTAL GAMES	AVERAGE
*	************	******	8本书家本房外店家长本本家	*****	*******
	SWIFT DAVID	AB	439	3	146
-	SWIFT PATRICK	SA	1892	12	157
	SZAFRAJDA LARRY	TC	10917	87	125
•	SZAFRAJDA MICHAEL	SB	12939	90	143
•	TEEL DEL	CA	1593	11	144
•	TEEL DEL	GD	12922	87	148
	TEEL DEL	AB	12754	87	146
	TEEL DEL	BE	4210	27	155
	TENNANT DONALD	ROC	13593	87	156
	TENNANT DONALD	HIB	78 44	63	156
	TERRY MARK	MI	13670	89	153
	TETER HERBERT	CIT	14265	87	163
	THEYE LARRY	CR	13932	83	167
	THIES RICHARD	CR	14588	93	156
	THOMAS GORD ON	FNF	12529	72	174
	THOMAS JAMES	HAB	12745	87	146
	THOMPSON MICHAEL	ΟΤ	9241	59	133
	TILLMANS JDE	EB	15267	93	164
	TINKHAM MICHAEL	BE	4272	35	118
	TOWNSEND CHARLES	GD	701	5	116
	TRACY KENNETH	BE	3235	21	154
	TRACY KENNETH	Ŷ	9203	 60	153
	TRAMPE DAVID	AC	10409	90	115
	TRAMPE DAVID	IN	11225	94	116
	TREADWAY DANIEL	W1-1	431		143
	TREADWAY DANIEL	BE	3516	24	140
	TREADWAY RICK	CA	12935	78	164
	TREMBLY BENJAMIN	CR	4679	30	155
	TREW ALLAN	MR	6577	48	137
	TREW ALLEN	AF	5450	42	129
•	TREW ROGER	AF	8717	6Ŭ	145
	TREW ROGER	MR	7006	48	145
	TROTTA JAMES JR	ROC	15690	90	174
	TRUE CLAYTON	CL	13997	87	160
	TRUELSON DAVID	SB	442	3	147
	TRUELSON DAVID	CA	11363	78	135
	TURHER GEORGE	HE	15190	87	174
	TURNER GEORGE .	SER	2747	15	167
	TURNER ROBERT JR.	ME	6181	35	171
	TURNER ROBERT JR	SER	13212	81	1 = 3
	TURNER ROBERT JR	FNF	2408	15	160
·	TURMER ROBERT SR	ME	2474	15	169
	TURNER ROBERT SR	SER	2456	15	153
	TUTTLE ARMOLD	F:OC	14978	23	151
	ULDRICH MICHAEL	BE	15315	95	157
	UNDERHILL PATRICK	CA	1130	ç –	125
	UNDERHILL PATRICK	SA	11846	¢3	1.27
	URBANSKI DAVID	CO	15726	9 3	149
	URBANSKI DAVID	BE	14728	87	169
	URBANSKI RALPH	BE	14823	90	164
			-		

ŧ

***	**************************************					\$ * ¥
	***************************************			TOTAL GAMES	AVERAGE	و بان وا
1. 1. 44	URBANSKI BALPH	CD	15445	**************************************	•	444
_	VACHA ALVIN	CO -	13176	73 81	166	
1 '	VACHA ALVIN	TMC	913	6	152	
•	VANLHAUTE THOMAS	SB	1996			
,	VANNIER KENNETH	SA	495	15	133	
•	VANNIER KENNETH.	, am F		3	145	
	VANNIER KENNETH		3957	27	146	C.
	VANNIER KENNETH	- CA	14850	96	154	-
	VANATER RENNETH	CL	2436	15	162	
	VANPATTON BRYON	CR	14019	. 90	155	
		CIT	11733 -	90	130	•
	VANZANDBERGEN TED VARGAS FRANK	CL	14719	87	169	
•		MR	6885	.48	143	
	VARGAS FRANK	AF	7871	60	131	
	VARGAS RAYMOND	SB	9730	60	162	
	VASQUEZ DAVID	SCA	6306	48	131	
	VASQUEZ NICK	DS	4827	33	145	
	VASQUEZ NICK	HCA	647	45	14	
	VASQUEZ NICK (LEFT)	SCA	5185	36	144	
	VASQUEZ NICK (LEFT)	DS .	4829	33	146	
	VASQUEZ NICK (RIGHT)	DS	290 *	2	95	
	VASQUEZ NICK-RIGHT	SCA	273	3	91	•
	VERBECK RICHARD	SA	425	3	141	
	VOGT DONALD	SER	7425	42	175	
	VÖGT MARK	Ē	13311	84	158	
	VOGT MARK	SER	14501	9 .3	155	
	VOGT ROBERT	CL	16554	87	190	
	VOGT ROBERT	IN	16569	90	184	
	YOHLAND RICHARD	AB	10738	55	152	
	VOLQUARDSEN JERRY	HIB	3255	24	135	
	VOLQUARDSEN RANDALL	AB	2878	18	161	
	VOLQUARDSEN RANDY	RA	11393	75	151	
	WADDINGTON EVERETT	HAB	13488	96	140	
,	WAHL HAROLD	SB	12611	96	131	
	WALKER JOHN	AB	11324	75	150	
	WALLACE DENNIS	BE	1850	12	154	
	WALLACE DEMNIS	AB	12405	87	142	
•	WALTER STEVEN	HIB	11201	34	133	
	WARD DAVID	ΡT	3834	33	115	
	WARNER MICHAEL	HIB	1475	12	122	
	WARTA MARLIN '	AB	1391	12	115	
	WATSON TANNIS	HCA	3463	27	128	
	WATSON TANNIS	. SCA	421	Ĵ	140	
	WATTON JOE	MI	1334	9	148	
	WEATHERWAX LEE	TL	13594	7 90	151	
	WEATHERWAX PHIL LEE	NT	14143	93 93	151	
	WEBBEN JAIME	CT	14143	94	152	
	WEBER ROBERT	CA	1464	¢	162	
	WEBER ROBERT	CD	12901			
	WEBER RONALD	니 IN	9411	91		
	WEDER WILLIS			72	130	
	، ۱۳۶۹ مەركىيە تەركىيە تەركىيە تەركىيە تەركىيە	V	10966	<u>6</u> 9	158	

Ţ

L

. .

. .

**	**************************************	•	48********* TOTAL PINS	**************************************	**************************************
* * 2	*****	*****	*****	** *********	******
	WEBSTER DANIEL	CL	16124	90	179
-	WEBSTER DANIEL	AB	15016	96	166
a '	WEDDLE JERRY	SA	5448	42	129
4	WEDGEWOOD JAMES	MR	3927	30	130
4	WEISS RICHARD	E	7430	48	154
•	WELLMAN JOEL	CO	10760	72	149
	WELLS CLINTON	GD	828	6	138
	WELLS CLINTON	PT	3018	21	143
	WELSH WAYNE	BE	357	3	119
	WELSH WAYNE	AB	13662	96	142
	WENDLAND GENE	SA	12168	87	139
	WEST CHARLES	IN	14648	93	157
	WEST KEITH	EB	912	9	101
	WESTESON DAVID	WM	1907	15	127
	WESTESON JAY	₩М	14899	96	155
	WESTESON JOHN	WM	14836	90	164
	NHITE GENE	WM	1943	15	129
	WHITEHOUSE RANDALL	HIB	11575	93	124
	WHITNEY HARMON	ROC	13888	93	147
	WHITNEY HARMON	MI	9920	63	157
	WHITNEY ROBERT	SA	9616	57	168
	WHITNEY ROBERT	V	12471	72	173
	WHITNEY SCOTT	y 1	528	3	175
	WIDDOWSON BRADLEY	HI	15894	÷2	165
	W1000WSON JAMES	HAB	16129	95	158
	WIDDOWSON JOE	TL	11917	90.	132
	WIEDERSPAN LOREN	IN	10363	55	157
	WIEDERSPAN RODNEY	NT	2187	18	121
	WIEDUWILT RICHARD	HTH	12859	93	138
	WIESE MARVIN	ΡT	314	3	104
	WIETJES DENNIS	FOC	11470	90	127
	WILCKE WALTER	IN	15995	ن ب	155
•	WILCKE WALTER	CR	15590	93	157
	MILCOXSON RICK	HCA	6572	48	13±
	WILCOXSOM RICK	SCA	6760	48	140
	WILCOXSON RICK	THC	13504	· 95	1 1 2
	WILCOXSON RONALD	THC	974 6	T 8	624
	WELCOKEON RONALD	SCA	6201	13	1 12 1 2
	NILCOXEON RONALD	HÇA	5574	46	l 4 É
	WILDER DANIEL	BE	15482	Ģé	151
	HILDER DONALD	BE	12826	87	147
	WILDER MGRK	BE	2352	21	135
	WILKE LLOYD	RA	2526	15	157
	WILKE LLOYD	ĊA	13625	37	155
	WILKE WENDELL	CIT	14980	90	155
	WILKENS BROZY	THC	915	4	152
	WILKIE LLOYD	SB	13866	93	147
	WILLIAMS DONALD	AB	13613	70	151
	WILLIAMS JAMES	EB	463	3	154
	WILLIAMSON JAMES	TMC	14408	87	145
				•	

•	*****	****	***	*****	****
	NAME		TOTAL PINS		
•	************************************	-			
•	W/LLIAMSON JAMES	DS	11249	69	163
	WILSON DAVID	FNF	1196	12	99
	HILSON JOHN	CR	2688	: B	149
		SB	12754	118	144
	WINSLOW RONALD	HAB	15271	95	150
	WITTENBACH DALE	HIB	15151	90	158
Ţ	WITTENBACH DALE	TMC	15857	? Ŏ	176
	WITTENBACH DALE	DS	13305	75	177
•	WOLFE DANIEL	DT	6341	50	126
	WORTHING MATHEW	IN	7896	59	114
	WRIGHT KIM	C0	13018	94	154
	WYMAN GEORGE	HAB	13869	84	155
	YANCEY STEVEN	FXTM	12120	. 78	155
	YATES MICHAEL	PT	636	6	106
	YOUNG DAVID	HAB	3329	24	138
	YOUNG EDWARD	CO	14800	96	154
	YOUNG EDWARD	AB	12286	80	153
	YOUNG KELLY	тс	13789	90	153
	YOUNG ROGER	HCA	1252	9	139
	YOUNG RONALD	AB	5595	33	155
	ZALESKY ROCKY	SB	13943	97	160
	ZAHFOGNA ROBERT	ROC	2069	15	137
	ZAPP JERRY	SA	17160	23	194
	ZARUBA DONALD	AF	5710	51	111
	ZASTROW DWEN	GD	11316	93	121
	IECHA JANES	CA	13300	84	154
	ZECHA JANES	CO	10337		155
	ZICKHUND BRIAN	AF	418	5	139
	ZIEHS KEITH	BE	12015	00	142
	ZIMMERMAN GENE	FTM	14434	93	155
8	ZOZAYA JOE	AB	10281	75	137
•	LOZAYA ROBERT	AB	12511	90	134
•	LUEGE STANLEY	PT	2458	21	117
-	IVERLEIN ROBERT	CF	467	- 12 12.7	155
	ZUERLEIN ROBERT	IN	9938	57	174
	ZUERLEIN ROBERT	V	6578	3 .9	168
	ZULAUF THOMAS ZULAUF THOMAS	SER	15137	87	173
	LULIOF HIUMAD	ROC	14995	87	172

ł